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This is the recitation note I’ve prepared for MATH 4900 - Multivariable Calculus in
University of Missouri – Columbia, Spring 2023, taught by Professor Carlo Morpurgo.

1 January 17

In this first class, we will introduce some notations and basic objects in multivariable
calculus. The main objects we will consider throughout this semester are

� n-dimensional Euclidean space Rn, and
� Real-valued functions defined on subset of Rn.

Notations The Euclidean space Rn (usually n > 1) consists of

Rn = {x = (x1, · · · , xn) | xi ∈ R}

where the element x = (x1, · · · , xn) is called a vector or a point in Rn and xi ∈ R
is called the i-th coordinate of x. We can also write

x =

n∑
i=1

xiei

where {e1, · · · , en} is called the standard orthogonal basis for Rn and

ei = (0, · · · , 1, · · · , 0)

with a single 1 on the ith coordinate. In particular, elements in R are referred to as
scalars.

Analogous to R, there are also algebraic operations on Rn. The first thing we can
do is to extend addition on R to Rn componentwisely: suppose x = (x1, · · · , xn),y =
(y1, · · · , yn) ∈ Rn,

x+ y = (x1 + y1, · · · , xn + yn) ∈ Rn.

2



We call 0 = (0, · · · , 0) ∈ Rn the zero vector in Rn.
For multiplication, first notice that we can define the scalar multiplication. For

a ∈ R and x = (x1, · · · , xn) ∈ Rn, define

ax = (ax1, · · · , axn) ∈ Rn

which works like stretching or contracting a vector by the factor of a ∈ R.
With this in mind, it is natural to define the notion of lines and line segments.
� Line passing through 0 with direction b ∈ R \ 0 is the set {tb | t ∈ R};
� Line passing though a with direction b ∈ R \ 0 is the set {a+ tb | t ∈ R};
� Line segment from a to b is L(a, b) = {a+ t(b− a) | t ∈ [0, 1]} with starting

point a corresponding to the value of parameter t = 0 and end point b associated
to the value of parameter t = 1.

Different from R, there are infinitely many ways to link from a point a to another
b other than the line segment L(a, b). Take n continuous functions xi : [0, 1] → R.
A path Γ in Rn is defined by

Γ = {(x1(t), · · · , xn(t)) | t ∈ [0, 1]}

parametrized by t ∈ [0, 1].
Moreover, using the scalar multiplication, we can also defined the parallelogram.

The parallelogram spanned by a, b ∈ Rn is defined by

P (a, b) = {λa+ µb | λ, µ ∈ [0, 1]}.

We can also define the inner/dot product of two vectors in Rn. Use the above
notation, define

x · y = x1y1 + · · ·+ xnyn =

n∑
i=1

xiyi ∈ R.

It is actually a function Rn × Rn → R given by (x,y) 7→ x · y which associates each
pair of vectors a real number. The inner product satisfies the following properties:

� (Positivity) x · x ≥ 0 with equation holds if and only if x = 0;
� (Symmetry) x · y = y · x;
� (Bilinearity) (αx+βy) ·z = αx ·z+βy ·z. Note that this is only the bilinearity

on the first component, but by symmetry we get the bilinearity on the second
component.

In particular, we have 0 · x = 0, α(x · y) = (αx) · y and (x+ y) · z = x · z + y · z.

Remark 1.1. You may want to ask if there is a reasonable division on Rn or in
other words it is possible to define the reciprocal of a nonzero vector. In general the
answer is no. But for special n, for example n = 2 we get R2 ∼= C we can define
division. Other examples with well-defined division like n = 4 which is the quaternion
H (loses commutativity for multiplication) and n = 8 called octonion (loses both
commutativity and associativity for multiplication). This is due to Frobenius.
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Just as absolute value gives a way to measure the distance to the origin, there
are multiple ways to define norm on Rn. First of all, we have the nonnegative inner
product

x · x =
∑

x2
i =

∑
|xi|2

which gives the definition of Euclidean norm of a vector x in Rn:

||x|| =

(
n∑

i=1

x2
i

)1/2

=
√
x · x.

It is also called l2-norm. For p ≥ 1 there are more general norms, called lp-norm:

||x||p =

(
n∑

i=1

|xi|p
)1/p

.

For example, the l1-norm means

||x||1 =

n∑
i=1

|xi|

and the sup norm or l∞-norm means

||x||∞ = max
1≤i≤n

{|xi|}.

Any function || · || : Rn → R≥0 satisfying the following properties is called a norm
on Rn:

� ||x|| ≥ 0 with equality holds if and only if x = 0;
� ||λx|| = |λ|||x|| for any scalar λ ∈ R;
� (Triangle inequality) ||x+ y|| ≤ ||x||+ ||y||.
One can check that the lp-norm (p ≥ 1) defined above are indeed norms, meaning

that they all satisfy the above three conditions. In particular, the trick for proving
the triangle inequality for the Euclidean norm is the Cauchy-Schwartz inequality
which we will prove on Thursday.
Cauchy-Schwartz inequality For any x,y ∈ Rn, with || · || the Euclidean norm
on Rn we have

|x · y| ≤ ||x||||y||

with equality holds if and only if x = 0 or y = 0 or x = λy for some λ ∈ R. We
provide two different proofs for this result.

Proof. The key point is

||a+ b||2 = (a+ b) · (a+ b) = ||a||2 + 2a · b+ ||b||2.
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Thus for any x,y ∈ Rn, and t ∈ R

0 ≤ ||x− ty||2 = ||x||2 − 2tx · y + t2||y||2.

The inequality holds obviously if y = 0. Now we assume y ̸= 0. Then the RHS of
the above inequality is a quadratic form in terms of t with positive leading coefficient.
Thus we denote

ϕ(t) = ||y||2t2 − 2tx · y + ||x||2.

Since ϕ(t) ≥ 0 it implies the discriminant

∆ = (2x · y)2 − 4||y||2||x||2 ≤ 0

and thus |x · y| ≤ ||x||||y||. In particular, if |x · y| = ||x||||y|| meaning ∆ = 0 thus
the quadratic form ϕ(t) admits a double root t∗ = x·y

||y||2 . Therefore ||x− t∗y||2 = 0

if and only if x = t∗y. Conversely if x = ty then |x · y| = ||x||||y|| as desired.

Here is an alternate proof:

Proof. The inequality is invariant under dilation and in particular, for nonzero
x,y ∈ Rn to prove the inequality is equivalent to showing∣∣∣∣ x

||x||
· y

||y||

∣∣∣∣ ≤ 1

where x
||x|| = 1 is a unit vector. Thus we can reduce to show the inequality for unit

vectors x,y ∈ Rn. It is clear that

0 ≤ ||x− y||2 = ||x||2 − 2x · y + ||y||2 = 2(1− x · y)

which implies x · y ≤ 1. Likewise if we consider ||x + y||2 ≥ 0 we get x · y ≥ −1.
Therefore |x · y| ≤ 1.

Now the triangle inequality can be easily proved.

Proof. In order to show ||x+ y|| ≤ ||x||+ ||y|| we will prove

||x+ y||2 ≤ (||x||+ ||y||)2.

Then

||x+ y||2 = ||x||2 + 2x · y + ||y||2 ≤ ||x||2 + ||y||2 + 2||x||||y|| = (||x||+ ||y||)2

shows the triangle inequality of Euclidean norm.

In general the triangle inequality for lp-norm is essentially the Minkowski inequal-
ity.
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2 January 18

Before talking about norms, let’s first take a look at inner products on Rn since the
most commonly used Euclidean norm does come from the inner product we defined
above. We have defined the inner product of two vectors before. In general, an inner
product is a function

⟨·, ·⟩ : Rn × Rn → R
satisfying positivity, symmetry and bilinearity.

Let’s look at some examples on the real plane R2. Let x = (x1, x2) and y =
(y1, y2):

Example 2.1. � Consider ⟨x,y⟩ = 2x1y1 + 3x2y2. One can check this forms an
inner product on R2.

� Consider ⟨x,y⟩ = 2x1 + 3y2. This is not an inner product because

⟨(1, 0), (2, 0)⟩ = 2 ̸= 4 = ⟨(2, 0), (1, 0)⟩.

� Consider ⟨x,y⟩ = x1y2 + x2y1. This is not an inner product on R2 because if
we take x = y = (1, 0), we have

⟨x,x⟩ = 0

but x is not the zero vector 0 in R2.

Remark 2.2. Every inner product induces a norm on Rn. But note that not every
norm comes from some inner product and there are inner products that do not come
from norms. A norm is induced by an inner product if and only if it satisfies the
parallelogram law: ||x+ y||2 + ||x− y||2 = 2(||x||2 + ||y||2).

Indeed one can check that the norm induced by some inner product does satisfy
the parallelogram law:

LHS = ⟨x+ y,x+ y⟩+ ⟨x− y,x− y⟩
= 2⟨x,x⟩+ 2⟨y,y⟩
= 2(||x||2 + ||y||2) = RHS.

Now let’s focus on lp-norms first for 1 ≤ p ≤ ∞. Recall that for a vector x ∈ Rn

the lp-norm of x = (x1, · · · , xn) is defined by

||x||p =

(
n∑

i=1

|xi|p
)1/p

with the sup norm or l∞-norm given by

||x||∞ = max
1≤i≤n

{|xi|}.
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These are related by the following where we will only prove the case for R2 and you
will see the proof for the general case soon.

Proposition 2.3. For any x = (x1, x2) ∈ R2,

lim
p→∞

||x||p = ||x||∞.

Proof. Without loss of generality we may assume |x1| ≥ |x2|. Then

||x||p = (|x1|p + |x2|p)1/p = |x1|
(
1 +

|x2|p

|x1|p

)1/p

→ |x1|.

A norm || · || on Rn defines a metric d (or distance) on Rn by setting d(x,y) =
||x− y||. This is not only for Rn but works for all k-vector space where (k, | · |) is a
valued field, i.e., a field with valuation. Once a metric is defined we get open subsets
and closed sets of Rn with respect to the norm || · ||. Though different norms provide
different metric but they may determine the “same” open sets of Rn thus the same
topology on Rn.

Therefore it is essential to figure out the underlying relation among all the norms
we have, in terms of whether they define the same topology on Rn (although we
didn’t get to that far but we will cover some necessary topology facts later).

Definition 2.4. Consider the space Rn. Two norms ||·||(1) and ||·||(2) are equivalent
if there are positive constants A,B ∈ R such that for any x ∈ Rn,

A||x||(2) ≤ ||x||(1) ≤ B||x||(2).

The following proposition shows that all the lp-norms on Rn are equivalent, and
thus they induce the same topology on Rn.

Proposition 2.5. For any x ∈ Rn,
(1) ||x||∞ ≤ ||x||p ≤ p

√
n||x||∞.

(2) ||x|| ≤ ||x||1 ≤
√
n||x||.

(3) In general, for any p, q with 1 ≤ p ≤ q ≤ ∞, we have

||x||q ≤ ||x||p ≤ nr||x||q

where

r =


1
p if p < q = ∞,
1
p − 1

q if p ≤ q < ∞,

0 if p = q = ∞.

Proof. Part (1) can be proved by the following easy inequality

max{|xi|} ≤ p
√
|x1|p + · · ·+ |xn|p ≤ p

√
nmax{|xi|}p.
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For (2), first notice that

||x||1 =

n∑
i=1

|xi| =
n∑

i=1

|xi| · 1 ≤

(
n∑

i=1

|xi|2
)1/2( n∑

i=1

12

)1/2

≤
√
n||x||.

For ||x|| ≤ ||x||1, it is easy to see that

||x||21 =

(
n∑

i=1

|xi|

)2

≥
n∑

i=1

|xi|2 = ||x||2.

To prove the general case for 1 ≤ p ≤ q ≤ ∞, it remains to show the case for
1 ≤ p ≤ q < ∞. To prove the first inequality, note that we can reduce to the case
||x||p = 1. Then |xi| ≤ 1 implies that |xi|q ≤ |xi|p since p ≤ q. The second inequality
is just the power mean inequality: for p < q < ∞(

|x1|p + · · ·+ |xn|p

n

)1/p

≤
(
|x1|q + · · ·+ |xn|q

n

)1/q

which can be shown by consider the concave function f(x) = xp/q and apply the
Jensen’s inequality. More precisely, we get from Jensen’s that(

|x1|q + · · ·+ |xn|q

n

)p/q

≥ |x1|q
p
q + · · ·+ |xn|q

p
q

n

which is exactly the inequality we want.

The fact is that all norms on a finite-dimensional vector space over R (actually
over a complete valued field) are equivalent. In particular, all norms on Rn define
the same topology on Rn.

3 January 19

This is the note after the lecture delivered on January 17.
A quick note: if x · y = 0 then we have the Pythagorean Theorem:

||x+ y||2 = ||x||2 + ||y||2.

If x ·y = 0 we say x,y are orthogonal or perpendicular; if x = ty for some scalar
t ∈ R we say x,y are parallel. We call {ei} a set of orthogonal unit vectors (forms a
orthonormal system). Moreover we define the angle between x,y ≠ 0 as θ ∈ [0, π]
such that

cos θ =
x · y

||x||||y||
.
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In addition, we define the hyperplane through a point a perpendicular to a vector
b to be

Πb(a) = {x ∈ Rn | (x− a) · b = 0}.

Therefore given b ̸= 0 the equation x · b = λ for some λ ∈ R define a set of points x
in a hyperplane perpendicular to b. For instance if b1 ̸= 0 then

λ =
e1 · b
b1

λ = a · b

where a = λe1/b1.
Next let’s talk about linear transformations.

Definition 3.1. A linear transformation is a function A : Rn → Rm such that for
any x,y ∈ Rn and λ ∈ R,
(1) A(x+ y) = A(x) +A(y);
(2) A(λx) = λA(x).

We will use Ax as A(x) and write L(Rn,Rm) as the set of all linear transformation
from Rn to Rm.

Linear transformation can be identified with matrices A ∈ Rm×n (we will use
this notation Rm×n for the set of all real n×m matrices),

A =

a11 · · · a1n
...

. . .
...

am1 · · · amn

 .

For any linear transformation A ∈ L(Rn,Rm) there is a unique matrix A ∈ Rm×n

such that

Ax =

a11 · · · a1n
...

. . .
...

am1 · · · amn


x1

...
xn


under this interpretation x is represented by column vector as the RHS as above.

Moreover, if we write A = [a1| · · · |an] as column vectors, then ak = Aek. We
denote by AT the transpose of A and with this notation x · y = xTy = [x]T [y].

For linear transformations, we can also define norms on them.

Definition 3.2. For A ∈ L(Rn,Rm) or equivalently, A ∈ Rm×n, the Frobenius norm
of A is

||A||2 =

 n∑
j=1

m∑
k=1

|ajk|2
1/2

.

This is a norm in the space of matrices Rm×n.

9



Proposition 3.3. If A ∈ L(Rn,Rm) then

||Ax|| ≤ ||A||2||x||

for any x ∈ Rn.

Proof. Let x =
∑n

k=1 xkek, we have

||Ax|| = ||
∑
k

xkAek|| ≤
∑
k

|xk|||Aek||

≤

(
n∑

k=1

|xk|2
)1/2( n∑

k=1

||Aek||

)2

=

(
n∑

k=1

|xk|2
)1/2

 n∑
k=1

m∑
j=1

|ajk|2
1/2

.

Here is an example:

Example 3.4. Consider A : R2 → R given by A(x1, x2) = 3x1 +x2. Then A = [3, 1]
with ||A||2 =

√
10. And

|3x1 + x2| ≤ 3|x1|+ |x2| ≤
√
32 + 1

√
x2
1 + x2

2

with equality holds for some x, for instance x1 = 3, x2 = 1.

Thus we can ask: if A ∈ L(Rn,Rm) then there is a constant C such that
||Ax|| ≤ C||x|| for any x ∈ Rn, what is the smallest C? This leads to the following
definition:

Definition 3.5. The operator norm of A ∈ L(Rn,Rm) is

||A|| = sup
x ̸=0

||Ax||
||x||

< ∞

(it is bounded since ||A||2 is an upper bound) the smallest C such that ||Ax|| ≤ C||x||
holds and ||Ax|| ≤ ||A||||x||.

Note that we always have ||A|| ≤ ||A||2 but in general ||A|| < ||A||2.

Proposition 3.6. If A ∈ L(Rn,Rm) then

||A|| = sup
||x||≤1

||Ax|| = sup
||x||=1

||Ax||.
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Proof. The key point is that

||Ax||
||x||

=

∣∣∣∣∣∣∣∣ 1

||x||
Ax

∣∣∣∣∣∣∣∣ = ∣∣∣∣∣∣∣∣A x

||x||

∣∣∣∣∣∣∣∣ .
Since || x

||x|| || = 1

{||Ax||/||x|| | x ̸= 0} = {||Ax∗|| | ||x∗|| = 1} ⊆ {||Ax|| | ||x|| ≤ 1}.

It implies

||A|| = sup
||x∗||=1

||Ax∗|| ≤ sup
||x||≤1

||Ax|| ≤ sup
||x||≤1

||Ax||
||x||

≤ ||A||.

We will see some examples of when ||A|| = ||A||2 and ||A|| < ||A||2 in tomorrow’s
recitation.

4 January 20

Starting with the Euclidean norm on Rn, we can define the metric d : Rn × Rn → R
by d(x,y) = ||x−y||. It admits a nice geometric interpretation: d(x,y) is the length
of the line segment from x to y. Therefore we could define the so-called Euclidean
ball centered at a ∈ R with radius R ∈ R to be

BR(a) := {x ∈ Rn | ||x− a|| < R}.

And in general, we can define the p-balls as follows:

Definition 4.1. We define the (open) p-ball of Rn centered at a ∈ Rn with radius
R by

B
(p)
R (a) = {x ∈ Rn | ||x− a||p < R}.

A quick exercise: Draw the corresponding p-balls for various 1 ≤ p ≤ ∞. For
example what does a unit p-ball look like when p = 1, 2,∞? How do we relate them
to their equivalence inequalities?

It is actually quite clear if we draw these balls with respect to different lp-norms
on R2:
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Now consider the space of linear operators L(Rn,Rm). A linear operator A :
Rn → Rm is a function satisfying

� A(x+ y) = A(x) +A(y);
� A(λx) = λA(x),

for any x,x ∈ Rn and λ ∈ R. A function L ∈ L(Rn,Rm) is linear if and only if there
exists a unique (m× n)-matrix A such that L(x) = Ax for any x ∈ Rn. Therefore
we can also use the notation A for the matrix to represent the corresponding linear
operator.

Just like we put different norms on Rn, we can also define norms for linear
operators. The norms of linear operators/matrices we have seen so far are the
followings:
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Given a linear operator, or an (m× n)-matrix A = [aij ],
� First of all the matrix A can be viewed as a mn-dimensional vector for which
we can take either sup norm or standard Euclidean norm. Explicitly, we have

||[aij ]||∞ = max
i,j

|aij |, ||[aij ]||2 =
√∑

a2ij .

The latter is called the Frobenius norm on L(Rn,Rm). Though these two
norms may not be better choices, they do provide some useful information. Let
us fix some notation first:a11 · · · a1n

...
. . .

...
am1 · · · amn


x1

...
xn

 =


∑n

j=1 a1jxj

...∑n
j=1 amjxj


and write A = [A1, · · · , Am]T where Ai are the ith row vector of A.
It can be checked (check yourself) that for any x ∈ Rn,

||Ax|| ≤ n
√
n||A||∞||x||

which implies that for any nonzero x ∈ Rn, the quotient ||Ax||/||x|| is bounded
from above by a constant which only depends on the matrix A and n. Therefore
it is natural to consider the set

S :=

{
||Ax||
||x|||

∣∣∣∣x ∈ Rn \ 0
}

which is nonempty and bounded from above (by n
√
n||A||∞ for instance al-

though it is not optimal). Thus by the completeness axiom it is legit to define
the operator norm

||A|| := sup
x̸=0

||Ax||
||x||

and we proved in class that it satisfies

||A|| ≤ ||A||2.

Remark 4.2. Recall that we apply the Cauchy-Schwartz inequality to show

||Ax||2 = (A1 · x)2 + · · ·+ (Am · x)2

≤ ||A1||2||x||2 + · · ·+ ||Am||2||x||2

≤ ||A||22||x||2.

Note that this also proves the set S is bounded from above. Here is another
simple application of the Cauchy-Schwartz inequality. Consider the expression
(2x+ 3y + 4z). How to find its maximum over (x, y, z) on the unit sphere?
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By the Cauchy-Schwartz inequality we get

2x+ 3y + 4z = (2, 3, 4) · (x, y, z)
≤ ||(2, 3, 4)||||(x, y, z)||

=
√
29
√

x2 + y2 + z2

=
√
29

with equality holds when (x, y, z) = λ(2, 3, 4) for some scalar λ. Therefore we
get the linear expression (2x+ 3y + 4z) attains its maximum

√
29 at the point(

±2√
29

,
±3√
29

,
±4√
29

)
on the unit sphere. (This gives a special case of ||A|| = ||A||2 when m = 1.)

Question: When is ||A|| = ||A||2?
a) First consider the lower dimensional case. Let m = 1 or n = 1. If n = 1,

i.e., the domain is R and A is an m-dimensional column vector. Thus

||A|| = sup
x=1

||Ax|| = ||A||2.

If m = 1, then A = [a1, · · · , an] can be viewed as an n-dimensional
row vector and the operator is precisely taking dot product. Take x =
(x1, · · · , xn) with

xi =
ai√∑

a2i
,

then

||Ax|| =
√∑

a2i = ||A||2

meaning that an upper bound ||A||2 is attained thus ||A|| = ||A||2.
b) The equality immediately fails to hold when m = n = 2. Consider the

diagonal matrix

A =

[
1 0
0 2

]
.

Let’s first find its operator norm (though we will know the operator norm
of a symmetric matrix is the max eigenvalue). It suffices to find the sup
of x2 + (2y)2 on the unit circle x2 + y2 = 1. Since

x2 + 4y2 = 1 + 3y2

and y ≤ 1, then the expression ||Ax||2 = 1 + 3y2 attains its maximum 4
at (x, y) = (0, 1). Therefore

||A|| = 2 <
√
5 = ||A||2.
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Facts: If A is a (square) symmetric matrix (thus all eigenvalues are real),
then its operator norm ||A|| is the maximal absolute eigenvalue. If A is neither
a symmetric matrix nor a square matrix consider the positive semi-definite
symmetric matrix ATA (thus all eigenvalues are nonnegative reals), then the
operator norm ||A|| is the square root of maximal eigenvalue of ATA.

� In general, we can even define the (p, q)-norm of linear operators in L(Rn,Rm)
where the domain Rn equipped with p-norm and the codomain Rm equipped
with q-norm. Define

||A||p,q = sup
x̸=0

||Ax||q
||x||p

for A ∈ L(Rn,Rm).

a) If p = q = 2, then (2, 2)-norm is just the operator norm.
b) If p = q = 1, recall ||x||1 =

∑
|xi|. Since

||Ax||1 =

m∑
i=1

∣∣∣∣∣∣
n∑

j=1

aijxj

∣∣∣∣∣∣
≤

m∑
i=1

n∑
j=1

|aij ||xj |

=

n∑
j=1

m∑
i=1

|aij ||xj |

≤ max
i

{||coli(A)||1}||x||1

Then ||Ax||1/||x||1 is bounded from above by the maximum absolute
column sum. Check if it can be attained by taking special x ∈ Rn.

c) Similarly, we can work out the case for p = q = ∞. Since

||Ax||∞ = max
i


∣∣∣∣∣∣

n∑
j=1

aijxj

∣∣∣∣∣∣
 ≤ max

i


n∑

j=1

|aij |

 ||x||∞

it means that ||Ax||∞/||x||∞ is bounded from above by the maximum
absolute row sum. Check if it can be attained by taking special x ∈ Rn.

5 January 25

The goal for the following two recitations are about topology on Rn. I will prove
some (nontrivial) propositions but we will mainly focus on examples.

Recall that a set E ⊆ Rn is open if for any point x ∈ E there is an r > 0 such
that B(x, r) ⊆ E. This is equivalent to say every point in E is an interior point to
E.
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Proposition 5.1. Open balls are open.

Proof. Given a ball centered at a ∈ Rn with radius r > 0

B(a, r) = {x ∈ Rn | ||x− a|| < r}.

For any point b ∈ B(a, r), take

r0 =
r − ||b− a||

2
> 0.

We claim that B(b, r0) ⊆ B(a, r). For any y ∈ B(b, r0), by triangle inequality we
have

||y − a|| ≤ ||y − b||+ ||b− a|| < r + ||b− a||
2

<
r + r

2
= r

which implies that y ∈ B(a, r). Therefore B(b, r0) ⊆ B(a, r) and it shows that any
ball is open.

Before looking at some examples let’s prove some of the basic properties:

Proposition 5.2. Given E ⊆ Rn:
(3) x ∈ ∂E if and only if for any r > 0, we have B(x, r)∩E ≠ ∅ and B(x, r)∩Ec ̸=

∅.
(9) ∂E = ∂Ec.

(11) E is closed if and only if ∂E ⊆ E if and only if E′ ⊆ E if and only if
{limit points for E} ⊆ E.

Proof. (3) Assume x is a boundary point of E which by definition means x is
neither an interior point of E nor an interior point of Ec (we call this exterior
point of E). If there exists some r > 0 such that B(x, r) ∩ E = ∅ then
B(x, r) ⊆ Ec meaning that x is an interior point of Ec, a contradiction. If
there exists r > 0 such that B(x, r) ∩ Ec = ∅ then B(x, r) ⊆ E which means
x is an interior point of E, again a contradiction. The other direction follows
similarly.

(9) Using (3) and (Ec)c = E.
(11) Start with E is closed. For any x ∈ ∂E, the point x is not an interior point of

Ec. Since Ec is open, we must have x /∈ Ec and thus x ∈ E.
Assume ∂E ⊆ E show E is closed. In other words, we need to prove Ec is
open. For any x ∈ Ec, we have x /∈ ∂E. Then x has to be an interior point of
Ec which shows Ec is open.
Now assume E is closed. x ∈ E′ means that x is a cluster point of E (Recall
any ball centered at x contains a point in E other than x itself). If there is
x ∈ E′ but not in E, we have x ∈ Ec. Since Ec is open there exists r > 0 such
that B(x, r) ⊆ Ec which implies that B(x, r) ∩ E = ∅ contradicting x ∈ E′.
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Next assume E′ ⊆ E. We claim that ∂E ⊆ E. By contradiction assume there
is x ∈ ∂E which is not in E. Then x ∈ Ec. Since x is a boundary point
of E then for any r > 0 we must have B(x, r) ∩ E ̸= ∅ which implies that
B(x, r) \ {x} ∩ E ̸= ∅ because x /∈ E. It then implies by definition of cluster
points, x ∈ E′ ⊆ E which contradicts the assumption that x /∈ E.
Since set of limit points contains set of cluster points, thus {limit points for E} ⊆
E implies E′ ⊆ E.
It remains to show the following: if E is closed then E contains all its limit
points. Since Ec is open, then for any x ∈ Ec there exists r > 0 such that
B(x, r) ∩ E = ∅. Thus for any sequence {xn} ⊆ E we have ||xn − x|| ≥ r > 0
for all n ∈ N. Then x cannot be a limit point of E. Therefore any point in Ec

cannot be limit point, so {limit points for E} ⊆ E.

Let’s start with some easy examples:

Example 5.3. � Consider E = (−1, 1] ∪ {3} ⊂ R. Then E◦ = (−1, 1), E′ =
[−1, 1] and ∂E = {−1, 1, 3}. Note that 3 is an isolated point (so it is a limit
point) but it is not a cluster point.

� Consider E = [0, 1] ∪Q ⊂ R. Then E◦ = ∅ because the density of irrationals
in R; E′ = [0, 1] = ∂E also by the density statements.

� Consider E = Q× R ⊂ R2. Similarly as in the second example, E◦ = ∅ and
E′ = ∂E = R2.

� Consider E = (−1, 1)× [−2, 2]. Then E◦ = (−1, 1)× (−2, 2), E′ = [−1, 1]×
[−2, 2] and ∂E = ({−1, 1} × [−2, 2]) ∪ ([−1, 1]× {−2, 2}).

� Consider E = {(x, y) | x = y} ⊂ R2, namely the diagonal in R2. Then
E◦ = ∅ and E′ = E = ∂E. Note that later we will see that E is the graph
of the continuous function f(x) = x and thus E is closed. Indeed we have
E = ∂E ∪ E◦ = E.

� Consider

E = {(x, y) | x2 + y2 < 1} \
((

Q ∩
[
−1

2
,
1

2

])
× {0}

)
⊂ R2.

Then E◦ = {(x, y) | x2 + y2 < 1} \ ([−1/2, 1/2]×{0}), E′ = {(x, y) | x2 + y2 ≤
1} = E, and ∂E = {(x, y) | x2 + y2 = 1} ∪ ([−1/2, 1/2]× {0}).

One last example, consider

E = {(x, y) | x8 − y7 + 2xy ≤ 1} ⊂ R2.

� First E is closed. It will be easier to use continuity which we haven’t yet
covered so make sure to go back and look at this example again. We can
consider the continuous function f(x, y) = x8 − y7 + 2xy : R2 → R. Then
E = f−1((−∞, 1]) is closed in R2 since (−∞, 1] is closed in R. Or use the fact
that continuous function maps convergent sequence to convergent sequence.
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� E◦ = {(x, y) | x8 − y7 + 2xy < 1}. It suffices to show this set on the RHS
is the largest open subset in E. We can show for any (x0, y0) satisfying
x8
0 − y70 + 2x0y0 = 1, for any r > 0 the ball B((x0, y0), r) is not contained in E.

In other words, find (x, y) ∈ B((x0, y0), r) such that (x, y) /∈ E.
� Moreover E is not bounded. Pick a sequence {(0, n)} ⊂ E.

6 January 27

Taking interior/closure/boundary does not always commute with taking intersection
or union. For instance we have already given an example showing that only one-sided
inclusion A◦ ∪B◦ ⊆ (A ∪B)◦ holds. Another possible example can be A = Q and
B = R \Q and thus A◦ = B◦ = ∅ but (A ∪B)◦ = R. In addition, we also have the
following examples for taking closure and boundary:

� We ONLY have A ∩B ⊆ A ∩B. We can take the same example as above, say
A = Q and B = R \Q. Since both A and B are dense in R then A = B = R.
But A ∩B = ∅ therefore we only get A ∩B = ∅ ⫋ R = A ∩B.

� We ONLY have ∂(A∪B) ⊆ ∂A∪ ∂B. An easy example for the strict inclusion
is A = (1, 2) and B = [2, 3] where the boundary point 2 of A will turn to an
interior point after taking the union. Namely, ∂A = {1, 2} and ∂B = {2, 3}
but A ∪B = (1, 3] and thus ∂(A ∪B) = {1, 3} ⫋ {1, 2, 3} = ∂A ∪ ∂B.

� We ONLY have ∂(A ∩ B) ⊆ ∂A ∪ ∂B. The above example also shows that
∂(A ∩B) ⫋ ∂A ∪ ∂B since A ∩B = ∅.

Remark 6.1. One might want to ask if there is a relation between ∂(A ∩B)
and ∂A ∩ ∂B the answer is no, and either one of them can be big and small.
Here is a small example. We can take two overlapping open disks in R2, called
A and B. Then ∂(A∩B) is the boundary of the overlapping area, but ∂A∩∂B
is just two separated points. But if we take disk A tangent to B, both open,
then ∂(A ∩B) = ∅ but ∂A ∩ ∂B now is a singleton.

Now consider the following question: Given a nonempty set E ⊆ Rn together
with a point a ∈ E, how to canonically define the distance between point a and the
set E? If a ∈ E then it natural to get the distance being defined by 0. Moreover
since the norm is always nonnegative, we can define the distance between a and E
to be

ρ(a, E) = inf
x∈E

||x− a||,

i.e., the greatest lower bound of norms from a to any point in E. One might ask
when will ρ(a, E) > 0 happen, is a /∈ E sufficient to imply ρ > 0? The answer is no,
for example one can take E be the open half plane in R2 and a = 0 be the origin.

But if we add an extra condition on the set E, we can have strictly positivity

Example 6.2. FACT: If E ⊆ Rn is closed and a /∈ E, then ρ(a, E) > 0.
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We will prove this statement in two different ways. First of all, using contradiction.
If infx∈E ||x−a|| = 0, then there exists a sequence {xn} ⊂ E such that ||xn−a|| → 0,
i.e., {xn} → a eventually. Since E is closed the limit point a ∈ E which is a
contradiction.

Alternatively, since E is closed and a /∈ E, Ec is open and a is an interior point
of Ec. Thus there is r > 0 such that B(a, r) ∩ E = ∅. By the definition of ρ, we
have for any x ∈ E, ||x− a|| ≥ r > 0 thus ρ(a, E) ≥ r > 0.

Now let’s look at some explicit examples:

Example 6.3. � ρ(0, [1,∞)) = 1.
Since the minx∈[1,∞) |x| is attained at x = 1 thus it is also the inf.

� ρ(0, (1,∞)) = 1.
Since it is easy to show infx∈(1,∞) |x| = inf(1,∞) = 1.

The notion of distance can also characterize cluster point.

Example 6.4. FACT: a ∈ E′ if and only if ρ(a, E \ {a}) = 0.
If a ∈ E′, then by definition (B(a, r) \ {a}) ∩ E ̸= ∅ for all r > 0. It means that

for any r > 0, there exists a point xr ∈ E but a ̸= xr with ||xr − a|| < r. Since
r > 0 is arbitrary, we must have ρ(a, E) = infx∈E ||x− a|| = 0.

Conversely, if ρ(a, E \ {a}) = 0, then for any r > 0, r cannot be a lower bound
of the set

{||x− a|| | x ∈ E \ {a}}.
It means that for any positive r > 0 there exists some point xr ∈ E \ {a} such that
||xr − a|| < r. Thus (B(a, r) \ {a}) ∩ E ̸= ∅ for any r > 0. Therefore a ∈ E′.

Example 6.5. ρ(
√
2,Q) = 0.

Since Q is dense in R or
√
2 ∈ Q′ = R thus ρ(

√
2,Q) = 0.

Remark 6.6. � Can we generalize the above definition to a distance function
defined on (Rn, || · ||), if we define similarly

ρ(A,B) := inf
a∈A,b∈B

||a− b||

for A,B ∈ Rn?
� Use the definition of ρ(A,B) as above, if A,B are both closed sets in Rn and
disjoint A ∩B = ∅, do we have ρ(A,B) > 0? Counterexamples?
(1) Take

A = {(x, y) ∈ R2 | y ≤ 0}, B = {(x, y) ∈ R2 | y ≥ ex}.

(2) Take A = N then A◦ = ∅, ∂A = N ⊆ A thus A is closed. And

B =

{
n+

1

2n
: n ∈ N

}
then ∂B = B. But ρ(A,B) = infn∈N |1/(2n)| = 0.

� How can we modify the condition in above to make ρ(A,B) > 0?
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7 February 1

For limits of functions, since we have the proposition showed in class, we only need
to consider the limit of each coordinate function fi for f = (f1, · · · , fm) : A → Rm

where A ⊆ Rn. Thus throughout today’s recitation we will only consider real-valued
multivariable function f : A → R with domain A ⊆ Rn.

Given A ⊆ Rn and x0 ∈ A′. We say that the function f : A → R has limit
l as x → x0 if for any ϵ > 0 there is δ > 0 such that for any x ∈ A \ {x0} with
||x− x0|| < δ we have |f(x)− l| < ϵ.

Let’s start with two examples using only the definition:

Example 7.1. (1) Prove the following limit of a polynomial function

lim
(x,y)→(2,1)

(x2 + y3 − 3) = 2.

For any ϵ > 0. Since

|x2 + y3 − 5| ≤ |x2 − 4|+ |y3 − 1|
≤ |x− 2|(|x|+ 2) + |y − 1|(|y|2 + |y|+ 1).

Now we restrict ||(x, y) − (2, 1)|| =
√
(x− 2)2 + (y − 1)2 < 1. Then we have

|x− 2| < 1 and |y − 1| < 1 which imply |x| < 3 and |y| < 2. And thus

|x2 + y3 − 5| < 5|x− 2|+ 7|y − 1|

≤
√
74||(x, y)− (2, 1)||

which means we can take δ = min{1, ϵ/
√
74}.

(2) Prove the following limit of a rational function

lim
(x,y)→(1,2)

x

1 + y
=

1

3
.

This can be proved similarly as above. For any ϵ > 0. Since∣∣∣∣ x

1 + y
− 3

∣∣∣∣ = |3x− 1− y|
3|1 + y|

≤ 3|x− 1|+ |y − 2|
3|1 + y|

.

So if ||(x, y)− (1, 2)|| < 1 then |y − 2| < 1. Thus

3 = |2− y + y + 1| ≤ |y − 2|+ |y + 1| < 1 + |y + 1| =⇒ |y + 1| > 2.

Then ∣∣∣∣ x

1 + y
− 3

∣∣∣∣ ≤ 1

2
|x− 1|+ 1

6
|y − 2| ≤

√
10

6
||(x, y)− (1, 2)||.

Therefore we only need to take δ = min{1, 6ϵ/
√
10}.
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Indeed, we have the following facts:
� If P (x) is a polynomial function on Rn, then for any x0 ∈ Rn we have
limx→x0

P (x) = P (x0).
� If P (x) and Q(x) are two polynomials on Rn, then for any x0 ∈ Rn with
Q(x0) ̸= 0 we have

lim
x→x0

P (x)

Q(x)
=

P (x0)

Q(x0)
.

But if Q(x0) = 0 then the limit may not exist in general.
For example to the second item above: for any m, k ∈ N consider f(x, y) = xm

yk

as (x, y) → (0, 0). There are infinitely many ways to approach the origin (0, 0), for
example along the parametrized curve{

x(t) = αtk

y(t) = βtm

for −1 ≤ t ≤ 1 and α, β nonzero constants. Or even discretely we can also take
sequences:

(xn, yn) =

(
1

nk
,
1

nm

)
, (an, bn) =

(
2

nk
,
1

nm

)
both approaching to (0, 0) as n → ∞. But f(xn, yn) → 1 while f(an, bn) = 2m.

Now let’s look at some other examples

Example 7.2. � Consider

lim
(x,y)→(0,0)

x3 + y3

x2 + y4
.

Let (x, y) approach to (0, 0) along the y-axis with y → 0+. Then x = 0 and
thus

lim
y→0+

y3

y4
= ∞.

But if (x, y) approaches to (0, 0) along the x-axis, then

lim
x→0

x3

x2
= lim

x→0
x = 0.

Therefore the limit does not exist.
� Consider the following limit

lim
(x,y)→(0,0)

sin(x3y)√
x8 + y6

.
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First of all we can write

sin(x3y)√
x8 + y6

=
sin(x3y)

x3y

x3y

(x8 + y6)1/2
.

For the limit of sin(x3y)/x3y, it is simply sin(z)/z composed with z 7→ x3y.
Thus by composition theorem and limz→0

sin z
z = 1 we have

lim
(x,y)→(0,0)

sin(x3y)

x3y
= 1.

For the other limit, we use the trick used in class:

x ≤ (x8 + y6)1/8, y ≤ (x8 + y6)1/6.

Thus ∣∣∣∣ x3y

(x8 + y6)1/2

∣∣∣∣ ≤ (x8 + y6)
3
8+

1
6

(x8 + y6)1/2
= (x8 + y6)

1
24 → 0

as (x, y) → (0, 0). It implies that

lim
(x,y)→(0,0)

sin(x3y)√
x8 + y6

= 0.

8 February 3

We are going to see more examples of limits of functions today, but before starting I
want to make a quick note on the composition of limits. The composition of limits
tells us that given A ⊆ Rn and B ⊆ Rp and consider the composition of functions f
and g:

B
g−→ g(B) ⊆ A

f−→ Rm.

Let x0 ∈ A′ and t ∈ B′. If limx→x0
f(x) = l and limt→t0 g(t) = x0, then

limt→t0 f(g(t)) = l. One special case for this theorem is to take the outer func-
tion g be simply the projection map. In other words, we consider for m < n, the
composition

f : Rn −→ Rm g−→ R

where the first map is the projection map given by

p : Rn −→ Rm

(x1, · · · , xm, · · · , xn) 7−→ (x1, · · · , xm).
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Under this special situation, take for example x0 ∈ Rn and p(x0) ∈ Rm be the point
projected from x0. Then the composition of limits means that in order to figure
whether

lim
x→x0

f(x) = l

it suffices to check whether
lim

x′→x′
0

g(x′) = l

where we write x′ = p(x) and x′
0 = p(x0), i.e., check the limit in lower dimensional

vector space Rm. To see this, we only need to prove

lim
x→x0

p(x) = p(x0) = x′
0.

Indeed this is true because projection maps are continuous. But it is also easy to see
because for any ϵ > 0, just take δ = ϵ, then for any x ∈ Rn with ||x−x0|| < δ, after
projection to lower dimension subspace, we always have

||p(x)− p(x0)|| ≤ ||x− x0|| < δ = ϵ.

Example 8.1. Suppose f : R3 → R is defined by f(x, y, z) = x2 + y4. To study the
limit of f(x, y, z) it suffices to study the limit of g(x, y) = f(x, y, 0) with domain in
R2.

Now let’s continue with more examples about limits of functions. The first one is
a slight generalization of the example we have seen last time:

Example 8.2. Consider the following limit

lim
(x,y)→(0,0)

x3|y|a

x4 + y2
.

Find α so that the limit exists.
We will use the same trick as

x ≤ (x4 + y2)1/4, y ≤ (x4 + y2)1/2

to write

0 ≤ x3|y|a

x4 + y2
≤ (x4 + y2)3/4(x4 + y2)a/2

x4 + y2
= (x4 + y2)

3
4+

a
2−1

which approaches to 0 as (x, y) → (0, 0) if the exponent 3
4 +

a
2 − 1 > 0. Thus if a > 1

2
the limit exists and equals to zero.

For a ≤ 1
2 , let us consider two cases
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� If 0 < a ≤ 1
2 , then

1
a > 2. If approach to the origin along the x-axis, the limit

equals 0; if take path to the origin along y = x1/a then

lim
(x,y)→(0,0),y=x1/a

x3|y|a

x4 + y2
= lim

x→0

x4

x4 + x2/a
= lim

x→0

1

1 + x
2
a−4

= 1 ̸= 0

since 2
a > 4. Thus the limit cannot exist.

� If a ≤ 0 we consider

lim
(x,y)→(0,0)

x3

|y|a(x4 + y2)

where a ≥ 0. Then along the y-axis the limit equal 0 while along the line y = x,
the limit is ∞. Thus the limit does not exist.

Some other examples:

Example 8.3. (1) Consider the limit

lim
(x,y)→(0,1)

x
3
2 sin(xy)

x2 + (y − 1)2
.

We can write
x

3
2 sin(xy)

x2 + (y − 1)2
=

sin(xy)

xy

x
5
2 y

x2 + (y − 1)2
.

Since xy → 0 as (x, y) → (0, 1) the first term has limit 1. Moreover we have∣∣∣∣∣ x
5
2 y

x2 + (y − 1)2

∣∣∣∣∣ ≤ |x 5
2 y|
x2

=
√
|x||y| → 0

as (x, y) → (0, 1) thus the limit equals 0.
(2) Consider the limit

lim
(x,y)→(0,0)

x2e−1/y

x2 + y2

on A = {(x, y) ∈ R2 | y > 0}.
Since

0 ≤
∣∣∣∣x2e−1/y

x2 + y2

∣∣∣∣ ≤ x2e−1/y

x2
= e−1/y → 0

as y → 0+. Thus the limit equals 0.
(3) Consider the limit

lim
(x,y,z)→0

xy2z3

(x2 + |y|3 + z4)7/8
.
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Since∣∣∣∣ xy2z3

(x2 + |y|3 + z4)7/8

∣∣∣∣ ≤ 1

2

(xy2)2

|y|21/8
+

1

2

z6

|z|7/2
=

1

2
x2|y|11/8 + 1

2
|z|5/2 → 0

as (x, y, z) → 0.
(4) Consider the limit

lim
(x,y)→(0,0)

x sin(y/
√
x)√

x2 + y2
.

Again by estimation

0 ≤

∣∣∣∣∣x sin(y/
√
x)√

x2 + y2

∣∣∣∣∣ ≤
∣∣∣∣∣

√
xy√

x2 + y2

∣∣∣∣∣ ≤ |
√
xy|
y

=
√
x → 0

as (x, y) → (0, 0). Note that we are using sin(t) ≤ t for all real t ≥ 0 for the
second inequality.

9 February 8

Analogous to one variable functions, we can also define continuous, uniformly contin-
uous, Hölder continuous functions.

Given real-valued function f : E → Rm with E ⊆ Rn. We say f is continuous at
a ∈ E if for any ϵ > 0 there exists δ > 0 such that |f(x)− f(a)| < ϵ whenever x ∈ E
with ||x − a|| < δ. In particular, if a is a cluster point of E we can also use limit
to characterize the continuity at a. Moreover continuity can also be characterized
sequentially and topologically. For example, sometimes to show a function is not
continuous at a certain point a it suffices to find a sequence {xn} ⊂ E with limit a
but f(x) does not converge to f(a).

Example 9.1. Consider a real-valued function f : R2 → R defined by

f(x, y) =

{
y2

x if x ̸= 0;

0 if x = 0.

It is not hard to show that f(x, y) is not continuous at (0, 0). Since by taking a
sequence

(xn, yn) =

(
1

n
,

1√
n

)
→ (0, 0)

as n → ∞, we have
f(xn, yn) = 1 ̸= f(0, 0) = 0.

From this choice of path we see that in order to have continuity of f at (0, 0) that
the speed of y2 approaching to 0 must be faster than that of x. That is to say, if we
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restrict the domain of f to some subset of R2 which excludes such paths it is still
possible to have f being continuous at (0, 0). Based on this fact, we consider the
same function f on D ⊂ Rn defined by

D = {(x, y) ∈ R2 | |y| ≤ x ≤ 1}.

It is easy to see that (0, 0) ∈ D. But now the function f : D → R is actually
continuous at (0, 0). This is because on D,∣∣∣∣y2x − 0

∣∣∣∣ = |y|
x
|y| ≤ |y| → 0

as (x, y) → (0, 0).

Given a function f : E → Rm with E ⊆ Rn. We say f is uniformly continuous
on E if for any ϵ > 0 there exists δ > 0 such that ||f(x) − f(y)|| < ϵ whenever
x,y ∈ E with ||x− y|| < δ. There is also a sequential characterization of uniform
continuity. Moreover if f is uniformly continuous on E then it must be continuous
on E. But the converse may not be true.

Example 9.2. (1) Consider a function f : D → R given by f(x, y) = 1
x+y with

D = {(x, y) ∈ R2 | x, y ∈ [0, 1], (x, y) ̸= (0, 0)}.
The function f is of course continuous on D but it is not uniformly continuous
on D. We consider two sequences,

(xn, yn) =

(
1

n
, 0

)
, (x′

n, y
′
n) =

(
1

n+ 1
, 0

)
.

Then

||(xn, yn)− (x′
n, y

′
n)|| =

1

n(n+ 1)
→ 0

but |f(xn, yn)− f(x′
n, y

′
n)| = 1 ̸= 0.

(2) Similarly, consider f : R2 → R given by f(x, y) = x2+y2. Then f is continuous
on R2. But if we take

(xn, yn) = (n, 0), (x′
n, y

′
n) =

(
n− 1

n
, 0

)
then ||(xn, yn)−(x′

n, y
′
n)|| = 1

n → 0 but |f(xn, yn)−f(x′
n, y

′
n)| = 2− 1

n2 → 2 ̸= 0.

Given a function f : E → Rm with E ⊆ Rn. We say f is Hölderian of order
0 < α ≤ 1 if there is a nonnegative real constant C ∈ R such that ||f(x)− f(y)|| ≤
C||x− y||α whenever x,y ∈ E. If f is Hölder continuous then it is also uniformly
continuous. But again the converse may not be true.
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Example 9.3. Consider a one variable example f : [0, 1/2] → R given by

f(x) =

{
0 if x = 0;
1

ln x if x ∈ (0, 1/2].

Then f is uniformly continuous since limx→0 f(x) = 0 thus it is continuous on [0, 1/2]
thus uniformly continuous. If f is Hölderian then we must have for any y ∈ (0, 1/2],

|f(0)− f(y)| = |1/ ln y| ≤ C|y|α

for some nonnegative constant C ∈ R. Then it implies

C|y|α| ln y| ≥ 1.

But one can check by L’hopital that limy→0+ c|y|α| ln y| = 0. Thus f is not Hölderian.

Continuous functions have lots of properties such as IVT, Extreme value theorem
and etc. Let’s take look at one important example which is a generalization of
estimation of positive definite quadratic form: If Q is a positive definite matrix i.e.,
it is symmetric and Q(x) = xTQx > 0 for any x ∈ Rn. Then for any nonzero x we
have inequalities

λmin||x||2 ≤ Q(x) ≤ λmax||x||2

where λmin, λmax are minimal and maximal eigenvalues respectively (they are both
positive).

Example 9.4. � A homogeneous polynomial of degree d in Rn is a degree d
polynomial P (x) such that P (tx) = tdP (x) for any nonzero scalar t ∈ R. For
example, we consider a degree 5 homogeneous polynomial in R3:

P (x, y, z) = x3y2 + yz4.

This polynomial function P is continuous on R3. Thus it attains its extrema
on the unit sphere S1(0) since S1(0) is closed and bounded thus compact
(for closedness we have the unit sphere S1(0) is the preimage g−1({1}) where
g : R3 → R by taking Euclidean norm is a continuous function). Let M be the
max and m be the min of P on S1(0) and C = max{|M |, |m|} then for any
(x, y, z) ∈ S1(0) we have

|P (x, y, z)| ≤ C.

Now take any nonzero x ∈ R3 we have x
||x|| ∈ S1(0), together with the fact

that P is homogeneous,

|P (x)| = ||x||5|P (x/||x||)| ≤ C||x||5.

27



� In general, we define a homogeneous function f(x) on Rn of degree a > 0
being a function such that f(tx) = taf(x) holds for any nonzero t ∈ R and
x ∈ Rn. For example linear operators are homogeneous functions of degree 1,
the function

f(x, y, z) = (x2y + yz2 + z3)1/5

is homogeneous of degree 3/5 since we can check

f(tx, ty, tz) = t3/5f(x, y, z).

Likewise, using the homogeneity together with the extreme value theorem on
unit sphere we can derive the following result. If f is nonzero homogeneous of
degree a > 0 then there exists a positive C ∈ R such that

|f(x)| ≤ C||x||a

for any x ∈ Rn.
� Moreover, just as the positive definite quadratic forms, if we add extra condition

that f(x) ≥ 0 and f(x) = 0 iff x = 0 (we actually only need f(x) = 0 iff x = 0
since f has IVP), then there exist positive C1, C2 ∈ R such that

C1||x||a ≤ |f(x)| ≤ C2||x||a

for all x ∈ Rn. This is because on the unit sphere S1(0)(compact) the
continuous homogeneous function f attains its max C2 and min C1, both
positive. Then for any nonzero x ∈ Rn we have

C1||x||a ≤ f(x) = ||x||af(x/||x||) ≤ C2||x||a.

10 February 10

The differentiability in multivariable calculus is different from that in one-variable.
Roughly speaking, given a function f : A → R, where A ⊂ Rn and a ∈ A◦, when
considering a multivariable function in terms of only one coordinate xk, we get the
so-called kth partial derivative when the limit

∂f

∂xk
(a) := lim

t→0

f(a+ tek)− f(a)

t

exists; but x can also move towards a along some specific direction, in this case we
call the directional derivative of f at a in the direction v (with ||v|| = 1 as a unit
vector) if the limit

Dvf(a) := lim
t→0

f(a+ tv)− f(a)

t
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exists. Thus one can easily see that partial derivative is just a special type of
directional derivative along the coordinate direction:

∂f

∂xk
(a) = Dek

f(a).

Unlike that differentiability implies continuity in one-variable case, we do not have
this implication in the multivariable setting:

Example 10.1. Consider the following two examples:
(1) Consider the function

f(x, y) =

{
0 if |y| ≥ x2 or y = 0;

1 otherwise.

Let’s first check that all directional derivatives at the origin (0, 0) exist and
equal 0. Let v = (a, b) be any unit vector representing the direction, then
a) If v is along one of the axis directions, namely (±1, 0) or (0,±1), then for

any t ̸= 0, we have
f(ta, tb)

t
= 0.

b) Otherwise, we have v = (a, b) where neither a nor b is 0. In this case, we
take t0 = |b/a2|, then for any t ̸= 0 with |t| ≤ t0 = |b/a2| we have

(ta)2 = t(ta2) ≤ |tb|.

It then implies that for sufficiently small t, we again have

f(ta+ tb)

t
= 0.

Therefore Dvf(0, 0) = 0 for all unit vector v. But the function f is not
continuous at (0, 0) because if we let (x, y) approach to (0, 0) along the parabola
y = 1

2x
2, we have

lim
x→0

f(x, x2/2) = 1 ̸= f(0, 0) = 0

since |y| = x2/2 < x2 when x ̸= 0. This shows that f is not continuous at the
origin but all directional derivative exist.

(2) Consider the function

f(x, y) =

{
xy2

x2+y4 if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0).
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Too see all directional derivatives at the origin exist, take any unit vector
v = (a, b), then the directional derivative can be computed by

Dvf(0, 0) = lim
t→0

f(ta, tb)− f(0, 0)

t
= lim

t→0

ab2

a2 + b4t2
=

{
b2/a if a ̸= 0;

0 if a = 0.

But the function f is not continuous at (0, 0) since if approaching to (0, 0)
along x = y2 we have

lim
y→0

y2y2

y4 + y4
=

1

2
̸= f(0, 0) = 0.

Also, even if the partial derivatives exist it does not imply all directional derivatives
exist. Here is a simple example:

Example 10.2. Consider the function

f(x, y) =

{√
x if x = y;

0 otherwise.

It is easy to check that
∂f

∂x
(0, 0) =

∂f

∂y
(0, 0) = 0.

But if we take the direction v to be along y = x, then

Dvf(0, 0) = lim
t→0

f(tv)

t
= lim

t→0

1
4
√
2
√
t

does not exists as a finite limit.

We say the function f : E → Rm where E ⊆ Rn is totally differentiable at a ∈ E◦

if there exists a linear operator L : Rn × Rm interpreted as an m× n matrix, such
that in Rm the limit

lim
h→0

f(a+ h)− f(a)− Lh

||h||
= 0

exists. In this case we say the function f is differentiable at a and write Df(a) = L
the derivative of f at a. Likewise, there is also a componentwise characterization of
differentiability by looking at only the coordinate functions. The standard way to
check if a function is totally differentiable is two-fold:

� check if all partial derivatives exist;
� if so, check whether the Jacobian matrix provides the local linearization.
Consider the following two examples first:
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Example 10.3. (1) Consider the function given by

f(x, y) =
√
|x||y|.

First check partial derivatives:

∂f

∂x
(0, 0) = lim

t→0

f(t, 0)

t
= 0 =

∂f

∂y
(0, 0).

But

lim
(x,y)→(0,0)

f(x, y)− f(0, 0)− 0√
x2 + y2

̸= 0

since one can take the path approaching to (0, 0) to be y = x. Therefore the
function is not differentiable at the origin.

(2) How to modify the function to make it totally differentiable? Make the total
degree of the numerator greater than 1. For example consider

f(x, y) = |x|2/3|y|2/3.

Similarly we get all partials exist and equal to zero. Moreover the limit

lim
(x,y)→(0,0)

|xy|2/3√
x2 + y2

= 0

since
|xy|2/3√
x2 + y2

≤ (x2 + y2)
2
3−

1
2 = (x2 + y2)

1
6 → 0

as (x, y) → (0, 0). Thus such function f is totally differentiable at (0, 0).

11 February 17

Before discussing more examples regarding the partial/total derivatives, let’s first
consider an example about continuous extension which we fail to cover before:

Example 11.1. Discuss the uniform continuity of function

f(x, y) =
1

1 + x(y − 1)

on the open balls B1 = B((0, 1), 1) and B2 = B((0, 1),
√
2).

The points where the function f(x, y) is not defined at is along the curves
x(y− 1) = −1. Notice that the ball B((0, 1), 1) is away from the singularities so let’s

31



try proving it is Lipschitz continuous on B((0, 1), 1) first. For any (x, y) ∈ B1 we
have

2|x(y − 1)| ≤ x2 + (y − 1)2 < 1

and thus 1
2 < 1 + x(y − 1) < 3

2 . Now take any points (x1, y1), (x2, y2) ∈ B1, we have

|f(x1, y1)− f(x2, y2)| =
|x2y2 − x2 − x1y1 + x1|

(1 + x1(y1 − 1))(1 + x2(y2 − 1))

≤ |x2||y2 − y1|+ |y1 − 1||x1 − x2|
(1 + x1(y1 − 1))(1 + x2(y2 − 1))

≤ 4|y1 − y2|+ 4|x1 − x2|

≤ 4
√
2||(x1, y1)− (x2, y2)||

which shows that the function is indeed Lipschitz on B1 thus it has to be uniformly
continuous on B1.

In the larger ball B2 = B((0, 1),
√
2) we can check easily that (1, 0) is a boundary

point of B2, therefore by taking sequence

(xn, yn) =

(
1− 1

n
,
1

n

)
→ (1, 0)

in B2 one can show using the sequential characterization that the function cannot
be continuously extended to the boundary point (1, 0). That is to say the function is
not uniformly continuous on B2 = B((0, 1),

√
2).

Let’s consider two more examples:

Example 11.2. (3) Discuss the differentiability of the function

f(x, y) = (1 + x)
√
|y|

at (−1, 0).
Since f(x, 0) = f(−1, y) = 0 for any x, y ∈ R, it is easy to check that

∂f

∂x
(−1, 0) =

∂f

∂y
(−1, 0) = 0.

Moreover, the limit

lim
(x,y)→(−1,0)

f(x− 1, y)− f(−1, 0)− 0√
x2 + y2

= lim
(x,y)→(0,0)

x
√

|y|√
x2 + y2

= 0

since

0 ≤

∣∣∣∣∣ x
√
|y|√

x2 + y2

∣∣∣∣∣ ≤ |x|
√
|y|

|x|
=
√
|y| → 0

as (x, y) → (0, 0). Thus the function f is differentiable at (−1, 0).
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(4) Discuss the differentiability of the function

f(x, y) =

x2y3 cos
1

x4 + y4
+ sin(x+ y2) if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0)

at (0, 0).
First of all all partials exist:

lim
t→0

f(t, 0)− f(0, 0)

t
= lim

t→0

sin t

t
= 1 =

∂f

∂x
(0, 0),

lim
t→0

f(0, t)− f(0, 0)

t
= lim

t→0

sin t2

t
= 0 =

∂f

∂y
(0, 0).

Moreover we can check that

lim
(x,y)→(0,0)

f(x, y)− f(0, 0)− x√
x2 + y2

= lim
(x,y)→(0,0)

x2y3 cos 1
x4+y4 + sin(x+ y2)− x√

x2 + y2
= 0

since
| sin(x+ y2)− x|√

x2 + y2
≤ | sinx cos y2 − x|

|x|
+

| cosx sin y2|
|y|

→ 0

as (x, y) → (0, 0). Thus the function is differentiable at (0, 0).

We also have the Chain Rule for composition of multivariable functions, which
says that given g : A → Rp where A ⊆ Rn, and f : B → Rm with B ⊆ Rp are two
functions with g(A) ⊆ B:

A
g−→ g(A) ⊆ B

f−→ Rm,

if g is differentiable at a ∈ A◦ and f is differentiable at b = g(a) then the composite
function f ◦ g is differentiable at a with

D(f ◦ g)(a) = Df(b)Dg(a).

In the matrix form, with g = (g1, · · · , gp) and coordinate on Rn being x =
(x1, · · · , xn); f = (f1, · · · , fm) and coordinate on Rp being y = (y1, · · · , yp), we
can write

D(f ◦ g)(a) =


∂f1
∂y1

(b) · · · ∂f1
∂yp

(b)

...
. . .

...
∂fm
∂y1

(b) · · · ∂fm
∂yp

(b)



∂g1
∂x1

(a) · · · ∂g1
∂xn

(a)

...
. . .

...
∂gp
∂x1

(a) · · · ∂gp
∂xn

(a)

 .

A direct application using Chain Rule:
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Example 11.3. Compute all partial derivatives at (0, 0) of F = f ◦ g where

f(y1, y2) = ((y1 + 1)
√
|y2|, y21 + y2),

g(x1, x2) = (x1 − 1, x1 + 2x2).

For simplicity, let us denote f1(y) = (y1+1)
√
|y2|, f2(y) = y21+y2 and g1(x) = x1−1,

g2(x) = x1 + 2x2, and F = (F1, F2).
First of all g is differentiable at (0, 0) and f is differentiable at g(0, 0) = (−1, 0)

(see above). Componentwisely we have

∂F1

∂x1
(0) =

∂f1
∂y1

(−1, 0)
∂g1
∂x1

(0, 0) +
∂f1
∂y2

(−1, 0)
∂g2
∂x1

(0, 0) = 0,

∂F1

∂x2
(0) =

∂f1
∂y1

(−1, 0)
∂g1
∂x2

(0, 0) +
∂f1
∂y2

(−1, 0)
∂g2
∂x2

(0, 0) = 0,

∂F2

∂x1
(0) =

∂f2
∂y1

(−1, 0)
∂g1
∂x1

(0, 0) +
∂f2
∂y2

(−1, 0)
∂g2
∂x1

(0, 0) = −1,

∂F2

∂x2
(0) =

∂f2
∂y1

(−1, 0)
∂g1
∂x2

(0, 0) +
∂f2
∂y2

(−1, 0)
∂g2
∂x2

(0, 0) = 2.

12 February 22

Here is a not-so-direct application of the Chain Rule:

Example 12.1. Consider a function f : R2 → R which can be written as f(x, y) =
φ(x2 + y2) for some function φ : R≥0 → R, i.e., sometimes we call such function a
radial function, meaning that the restriction of f to any sphere of some fixed radius
centered at the origin is a constant. Then

x
∂f

∂y
− y

∂f

∂x
= 0. (⋆)

This is not hard to see by applying the Chain Rule to f(x, y) = φ(x2 + y2):

∂f

∂x
(x, y) = φ′(x2 + y2)(2x),

∂f

∂y
(x, y) = φ′(x2 + y2)(2y)

which imply the equality as desired.
Conversely, every function f satisfying (⋆) can be written as φ(x2 + y2) for some

function φ : R → R. In other words, every function satisfying (⋆) takes constant
value on each circle centered at the origin. By using the polar coordinates, define

F (r, θ) = f(r cos θ, r sin θ).
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It is then equivalent to show that the function F (r, θ) only depends on r. So it is
suffices to show that

∂F

∂θ
(r, θ) = 0.

By the Chain Rule again, we have

∂F

∂θ
(r, θ) =

∂f

∂x
(r cos θ, r sin θ)(−r sin θ) +

∂f

∂y
(r cos θ, r sin θ)(r cos θ) = 0.

Then it shows that f is constant on circles centered at the origin. Thus

f(x, y) = f(
√
x2 + y2, 0).

Therefore we can take φ(r) = f(
√
r, 0).

Given a vector-valued function f : E → Rm with E ⊆ Rn we say that f is
Lipschitz on E if there is a constant M > 0 such that for any x,y ∈ E,

||f(x)− f(y)|| ≤ M ||x− y||.

One of the corollaries as a direct application of Mean Value Theorem is to prove a cer-
tain differentiable function is Lipschitz on an open and convex set if all partials/total
derivative is bounded over the set.

Remark 12.2. Note that the condition of convexity is required since to apply the
Mean Value Theorem we need to guarantee that the line segments are contained in
the set. A simple example one can consider is take a set which is not convex, say

E = {(x, y) ∈ R2 | ||(x, y)|| ≤ 1} \ {y = 0}

which is a unit disk with the x-axis removed. Consider the sign function f(x, y) =
sgn(y) on E. Then it is easy to check that

∂f

∂x
(x, y) =

∂f

∂y
(x, y) = 0

for any (x, y) ∈ E but f is obviously not uniformly continuous on E since one can
take sequences

(xn, yn) =

(
0,

1

n

)
, (x′

n, y
′
n) =

(
0,

−1

n

)
but |f(xn, yn)− f(x′

n, y
′
n)| = 2. Thus f is not Lipschitz on E.

Consider the following example first:
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Example 12.3. Given a function f(x, y, z) = x2y + z3 defined over any bounded
set K ⊆ R3. Then f is Lipschitz on K.

There are two ways to see this. Firstly, since K is bounded we have K ⊆ B(0, δ)
for some δ > 0. Then for any (x, y, z), (a, b, c) ∈ K,

|f(x, y, z)− f(a, b, c)| = |x2y + z3 − a2b− c3|
≤ y|x+ a||x− a|+ a2|y − b|+ |z − c||z2 + zc+ c2|
≤ (2δ2 + δ2 + 3δ2)||(x, y, z)− (a, b, c)||

thus by definition f is Lipschitz on K.
Alternatively, consider the function f on B(0, δ) as above. It is easy to compute

the partials

∂f

∂x
(x, y, z) = 2xy,

∂f

∂y
(x, y, z) = x2,

∂f

∂z
(x, y, z) = 3z2

all of which are bounded on B(0, δ). Moreover the function f itself is differentiable
on B(0, δ) thus by the corollary in the lecture notes (right after the definition of
Lipschitz), the function f is Lipschitz on B(0, δ) and thus Lipschitz on K as well.

But this function f is not globally Lipschitz, i.e., it is not Lipschitz over R3. One
can use the sequential characterization, by taking sequences

(xn, yn, zn) = (n, 1, 0) , (x′
n, y

′
n, z

′
n) =

(
n+

1

n
, 1, 0

)
but

|f(xn, yn, zn)− f(x′
n, y

′
n, z

′
n)| =

(
n+

1

n

)2

− n2 = 2 +
1

n2
→ 2 ̸= 0.

Therefore it is not uniformly continuous on R3 thus it is not Lipschitz on R3.

For a not so obvious example, let us consider

Example 12.4. Consider the following function over different domains

f(x, y) =

{
x2e−y/x if x ̸= 0;

0 if x = 0.

(1) Over the compact and convex set in the first quadrant

D1 = {(x, y ∈ R2 | 0 ≤ y ≤ x ≤ 1)}.

First check f is C1 over D1. Since if x = 0 then y = 0, we only need to check
the existence and continuity of partials at (0, 0). For nonzero x, we have

∂f

∂x
(x, y) = (2x+ y)e−y/x,

∂f

∂y
(x, y) = −xe−y/x.
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Moreover,

∂f

∂x
(0, 0) = lim

s→0

f(s, 0)− f(0, 0)

s
= lim

s→0

s2

s
= 0,

∂f

∂y
(0, 0) = lim

t→0

f(0, t)− f(0, 0)

t
= 0.

And it can be checked that both partials are continuous at (0, 0) since

lim
(x,y)→(0,0)

(2x+ y)e−y/x = lim
(x,y)→(0,0)

xe−y/x = 0

due to the fact that −y/x < 0 and thus e−y/x < 1. By the corollary, with D1

is compact, the function f is Lipschitz on D1.
(2) Now consider the domain to be

D2 = [−1, 0]× [0, 1] ⊂ R2

which is a closed square in the second quadrant. Notice that on D2 the
exponent −y/x ≥ 0 in particular when x → 0 the power of e can be large
enough to dominate the quadratic term x2. For example along the path given
by y =

√
−x, we have

f(x,
√
−x) = x2e1/

√
−x → ∞

as x → 0−. Thus the function f is not uniformly continuous over D2 therefore
it cannot be Lipschitz over D2.

13 February 24

Throughout the notes for today, we are assuming f : A → Rm where A ⊆ Rn is an
open set of Rn and a ∈ A. All the directional vectors are taken to be unit vector.
Recall that given two directional vectors v,w ∈ Rn, let us assume first that Dvf
exists around a, we can view it as a new function defined on some neighborhood of a
and define its directional derivative along the direction w. If the corresponding limit
indeed exists, we get the notion of second order directional derivative at a, which is
denoted by

D2
w,vf(a) = Dw(Dvf(a)).

If the function is “nice” enough, we can define higher order directional derivative by
repeating the same process.

Some computations about higher order directional derivatives:
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Example 13.1. Consider the function

f(x, y) = x+ y4/3

and directional vectors

v =

(
1√
2
,
1√
2

)
, w =

(
1

2
,

√
3

2

)
.

By direct computation we can compute the partial derivatives and the gradient is

∇f(x, y) =

(
1,

4

3
y1/3

)
,

and both partials are continuous thus the function is totally differentiable. In
particular, we have the directional derivative along v can be computed as

Dvf(x, y) = ∇f(x, y) · v.

Now Dvf(x, y) =
1√
2
+ 4

3
√
2
y1/3, and the (partial) derivatives of Dvf exist as long

as y ̸= 0 since when y = 0:

lim
y→0

(Dvf)(x, y)− (Dvf)(x, 0)

y
= lim

y→0

4

3
√
2y2/3

= +∞.

Thus for y ̸= 0, we get

∇Dvf(x, y) =

(
0,

4

9
√
2
y−2/3

)
and thus the second order directional derivative when y ̸= 0 is

D2
w,vf(x, y) = ∇Dvf ·w =

√
3

9
√
2
y−2/3,

and it does not exist when y = 0.

Third order partial derivatives with mixed orders can be computed similarly, see
the example below:

Example 13.2. Consider the function f(x, y) = x3y1/3. By direct computation we
get that

∂f

∂x
(x, y) = 3x2y1/3,

∂f

∂y
(x, y) =

1

3
x3y−2/3.

And the partial in terms of y does not exist when y = 0 since

lim
y→0

f(x, y)− f(x, 0)

y
= lim

y→0

x3

y2/3
= ∞.
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For higher order we can compute when y ̸= 0 that

∂2f

∂x2
(x, y) = 6xy1/3,

∂2f

∂y∂x
(x, y) =

∂2f

∂x∂y
(x, y) = x2y−2/3.

Furthermore,
∂3f

∂y∂x2
=

∂3f

∂x∂y∂x
=

∂3f

∂x2∂y
= 2xy−2/3.

In particular, at the origin (0, 0), consider ∂2f
∂x2 , we have

∂3f

∂y∂x2
(0, 0) = lim

t→0

∂2f
∂x2 (0, t)− ∂2f

∂x2 (0, 0)

t
= 0

but other third order partials do not exist at (0, 0).

It is then natural to ask the question when the following equality holds

D2
w,vf(a) = D2

v,wf(a).

There are two sets of conditions that will lead to the above equality (separately):
� (Schwartz) Both D2

w,vf and D2
v,wf exist around a and are continuous at a;

� The function f is C1 (all partials exists and continuous), and D2
w,vf exists

around a and continuous at a.
It is worth mentioning that there is no implications between these two sets of
conditions, i.e., none of which is stronger than the other. Moreover if we drop some
conditions we may still have the equality holds.

Example 13.3. Consider the function

f(x, y) =

{
x2y2

x2+y2 if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0).

It can be computed that

∂f

∂x
(x, y) =


2x(y2 − 1)

(x2 + y2)2
if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0),

∂f

∂y
(x, y) =


2y(x2 − 1)

(x2 + y2)2
if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0).
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and partials are not continuous at (0, 0) therefore the function is not of class C1

around (0, 0). We can also compute

∂2f

∂y∂x
(x, y) =


4xy − 4y(x2 + y2)

(x2 + y2)2
if (x, y) ̸= (0, 0);

0 if (x, y = (0, 0)),

∂2f

∂x∂y
(x, y) =


4xy − 4x(x2 + y2)

(x2 + y2)2
if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0).

and they are both not continuous at (0, 0) but we still have

∂2f

∂y∂x
(0, 0) =

∂2f

∂x∂y
(0, 0) = 0.

Another standard example:

Example 13.4. Consider the function

f(x, y) =

xy
x2 − y2

x2 + y2
if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0).

The function is C1 since

∂f

∂x
(x, y) =


x4y + 4x2y3 − y5

(x2 + y2)2
if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0),

∂f

∂y
(x, y) =


x5 − 5x3y2 − xy4

(x2 + y2)2
if (x, y) ̸= (0, 0);

0 if (x, y) = (0, 0).

And it can be checked that these two partials are continuous thus the function is C1.
But

∂2f

∂x∂y
(0, 0) = lim

x→0

∂f
∂y (x, 0)− 0

x
= lim

x→0

x− 0

x
= 1,

∂2f

∂y∂x
(0, 0) = lim

y→0

∂f
∂x (0, y)− 0

y
= lim

y→0

−y − 0

y
= −1.
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14 March 8

Let’s finish up the Taylor’s expansion for multivariable functions today.
Given a vector-valued function f : A → Rm where A ⊆ Rn is an open subset and

a ∈ A. Then
� (Peano form) If f is p times differentiable at a, then

f(a+ h) =

p∑
k=0

1

k!
dkf(a,h) + o(||h||p)

where dkf(a,h) is the k-th differential of f at a;
� (Lagrange form) If f is real-valued, f is (p+ 1) times differentiable on A, and
the line segment L(a,a+ h) ⊂ A, then there exists θ ∈ (0, 1) such that

f(a+ h) =

p∑
k=0

1

k!
dkf(a,h) +

1

(p+ 1)!
dp+1f(a+ θh,h).

Recall that the p-th differential of f at a is given by

dpf(a,h) := dpf(a,h, · · · ,h) =
∑

j1,··· ,jp∈[n]

∂pf

∂xjp · · · ∂xj1

(a)hj1 · · ·hjp

=
∑(

p

k1, · · · , kn

)
∂pf

∂xkn
n · · · ∂xk1

1

(a)hk1
1 · · ·hkn

n

where the last summation is taken over k1, · · · , kn ∈ {0, · · · , p} with k1+ · · ·+kn = p,
and the combinatorial factor is called the multinomial coefficients. We rewrite the
summation by grouping with respect to taking partials in terms of xi for ki times.
Namely, (

p

k1, · · · , kn

)
=

p!

k1! · · · kn!
.

It is
� the coefficients of the expansion (x1 + · · ·+ xn)

p;
� and has the combinatorial meaning as the number of ways of putting p distinct
balls into n distinct bins with the i-th bin consisting of exactly ki balls.

Note that some of the k1, · · · , kn can be zero. It is easier to estimate the remainder
using the latter sum. In other words, if the (p+ 1)st order partials are all bounded
by some M > 0 in some small neighborhood of a (containing the line segment
L(a,a+ h)), then∣∣∣∣ 1

(p+ 1)!
dp+1f(a+ θh,h)

∣∣∣∣ ≤ M

(p+ 1)!
||h||p+1

∑(
p+ 1

k1, · · · , kn

)
=

M ||h||p+1

(p+ 1)!
np+1.
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Remark 14.1. (1) By the uniqueness of the Taylor’s expansion, if f(x) is a
polynomial function in x = (x1, · · · , xn) of total degree d, since by grading in
terms of degrees, we can canonically write

f(x) = f0(x) + f1(x) + · · ·+ fd(x)

where fj(x) is the homogeneous polynomial of degree j. Then

djf(0,x) = j!fj(x)

is the j-th differential of f at 0.
(2) With the uniqueness of the Taylor’s expansion, it sometimes will simplify

the computation. As the example we have seen in class to find the Taylor’s
expansion at (0, 0) of

f(x, y) = (x2 + y) sin y

we can actually use the 1-dimensional Taylor’s formula for sin y and multiply
with the polynomial term (x2 + y).

Example 14.2. i) Similarly, to find the 5th differential of

f(x, y) = (x2 + y)ex

at (0, 0) we can write

f(x, y) = (x2 + y)

(
1 + x+

x2

2!
+

x3

3!
+

x4

4!
+ · · ·

)
= y + (x2 + xy) + · · ·+

(
x5

3!
+

x4y

4!

)
+ · · ·

and d5f(0,x) = 5!
(

x5

3! +
x4y
4!

)
.

ii) Consider
f(x, y) = exy sin(x+ y).

Since

exy = 1 + xy +
(xy)2

2!
+R2(x, y)

and

sin(x+ y) = (x+ y)− (x+ y)3

3!
+R3(x, y)

by the uniqueness of expansion, the third degree Taylor polynomial of
f(x, y) at (0, 0) is

P3(x, y) = (x+ y) + xy(x+ y)− (x+ y)3

3!

= (x+ y) +
1

3!
(−x3 + 3x2y + 3xy2 − y3).
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We can even conclude from the expansion that

∂3f

∂x3
(0) =

∂3f

∂y3
(0) = −1,

∂3f

∂x2∂y
(0) =

∂3f

∂x∂y2
(0) = 1.

Now let us consider one estimation problem using Taylor’s expansion.

Example 14.3. Consider an old example

f(x, y) = (x2 + y) sin y = (y2) + (x2y) +

(
−y4

3!

)
+

(
−x2y3

3!

)
+ · · ·

on the unit square D1 = [0, 1]× [0, 1]. For simplicity, we denote (θx, θy) = (x0, y0)
throughout.

� If using the least order of terms to estimate, there exists some θ ∈ (0, 1) such
that

f(x, y) = d1f((x0, y0), (x, y)) = ∇f(x0, y0) · (x, y)
= (2x0 sin y0)x+ (sin y0 + (x2

0 + y0) cos y0)y.

Over D1, this gives a not so good estimation

|f(x, y)| ≤ 2|x|+ 3|y|.

� Now consider the order one estimation, we get for some θ ∈ (0, 1) such that

f(x, y) =
1

2
d2f((x0, y0), (x, y))

=
1

2

[
(2 sin y0)x

2 + 2(2x0 cos y0)xy + (2 cos y0 − (x2
0 + y0) sin y0)y

2
]
.

Thus on D1, we have

f(x, y) ≤ 1

2

[
2xy2 + 4x2y + (2 + (x2 + y)y3)

]
≤ y2 + 3x2y +

1

2
y4 +

1

2
x2y3.

If restricting on D2 = {(x, y) | 0 ≤ x ≤ y ≤ 1} ⊆ R2, then

|f(x, y)− y2| ≤ 3y3 +
1

2
y4 +

1

2
y5 ≤ 4y3.

� But if using sin y = y − y3

6 cos(θy) for some θ ∈ (0, 1), we get

f(x, y) = (x2 + y)

(
y − y3

6
cos(θy)

)
= y2 + x2y − (y4 + x2y3)

cos(θy)

6
.
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Thus on D2 the estimation turns out to be

|f(x, y)− y2| =
∣∣∣∣x2y − (y4 + x2y3)

cos(θy)

6

∣∣∣∣
≤ y3 +

y4 + y5

6
≤ 4

3
y3

which is a better estimation comparing to 4y3.

15 March 10

One application of the Taylor’s expansion is to give necessary/sufficient conditions
for a point being local min/max.

Recall that given a real-valued function f : A → R where A ⊆ Rn, a point a ∈ A
is called a critical point of f is when f is differentiable at a with vanishing gradient,
i.e., ∇f(a) = 0, or equivalently, all partials vanish at a, or equivalently, the first
order differential df(a,h) = 0 for all vector h ∈ Rn.

For a differentiable function, the critical points are the points which might be a
local extremum or a saddle point (a critical point which is not a local extremum).
Let us first recall the sufficient condition for local extrema/saddle points:

Theorem 15.1. Suppose that f is k times differentiable at a and

df(a,h) = d2f(a,h) = · · · = dk−1f(a,h) = 0

for all h ∈ Rn and dkf(a,h0) ̸= 0 for some h0 ∈ Rn. If k ≥ 3 is odd then a is a
saddle point. If k is even then

� dkf(a,h) > 0 for all h ̸= 0 implies a is a strict min;
� dkf(a,h) < 0 for all h ̸= 0 implies a is a strict max;
� dkf(a,h) changes sign implies a is a saddle point.

The situations not included are called ambiguous cases, meaning that the result
is inconclusive from above theorem.

Here are some toy examples:

Example 15.2. � The examples we have seen in class f1(x, y) = x2 + y4 and
f2(x, y) = x2 − y4. They both have the origin (0, 0) as the only critical point,
and both have the same degree 2 Taylor’s polynomial x2, and moreover, they
both have vanishing Hessian at (0, 0) which leads to the ambiguous case. It
is easy to see that f1(x, y) is always nonnegative, thus it has (absolute) min
at (0, 0). But f2(x, y) has a saddle point at (0, 0) by considering two paths to
(0, 0) parametrized by (t, t) and (t3, t).
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� (Monkey saddle – three up/three down) The example f(x, y) = x3 − 3xy2.
Again we have the gradient ∇f = (3x2−3y2,−6xy) thus the only critical point
is the origin (0, 0). We can check that

df(0,h) = d2f(0,h) = 0

for any h ∈ R2 and d3f(0,h) is not constantly zero. Thus the origin is a saddle
point.

� (Dog saddle) Consider the function defined by f(x, y) = x3y−xy3. The gradient
can be computed as ∇f = (3x2y − y3, x3 − 3xy2) and one can check similarly
that the only critical point is the origin (0, 0). This is also a saddle point by
taking paths parametrized by (t, t/2) and (t,−t/2).

Now consider the following examples using the sufficient condition:

Example 15.3. (1) Consider the function

f(x, y) = x2ye−x2−y2

.

First find the critical points by setting all partials to be zero:

∂f

∂x
= 2xye−x2−y2

− x2y2xe−x2−y2

= 2xy(1− x2)e−x2−y2

= 0

∂f

∂y
= (1− 2y2)x2e−x2−y2

= 0

Thus the critical points are
(i) (0, b) where b ∈ R: the entire y-axis. When b > 0, near (0, b), we have

f(x, y) ≥ 0 thus (0, b) is a local min. When b < 0, near (0, b), we have
f(x, y) ≤ 0 thus (0, b) is a local max. When b = 0, f(x, y) changes sign
near the origin, thus it is a saddle point.

(ii) (±1,±1/
√
2) are local extrema, to see this one can check the second

differential at those points.
(2) Consider the function

f(x, y) = x4 + y4 − (x+ y)2.

Firstly set partials to zero to find the critical points:

∂f

∂x
= 4x3 − 2(x+ y) = 0

∂f

∂y
= 4y3 − 2(x+ y) = 0.

Then the critical points are
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(i) (0, 0). Near (0, 0), along x = y, we have f(x, x) = 2x4 − 4x2 < 0; along
x = −y we have f(x,−x) = 2x4 > 0. Thus the origin is a saddle point.

(ii) (1, 1). Compute the second differential, since

∂2f

∂x2
= 12x2 − 2,

∂2f

∂x∂y
=

∂2f

∂y∂x
= −2,

∂2f

∂y2
= 12y2 − 2,

we have

d2f((1, 1), (h1, h2)) = 10h2
1 − 4h1h2 + 10h2

2

= 2(h1 − h2)
2 + 8(h2

1 + h2
2) > 0

for any nonzero (h1, h2) ̸= (0, 0). Thus (1, 1) is a local min.
(iii) (−1,−1). This is similar to (1, 1).

(3) Discuss that whether (0, 0) is a saddle point for the function

f(x, y) = x2y5 + x4y4.

First check whether (0, 0) is a critical point:

∂f

∂x
(0, 0) = 2xy5 + 4x3y4 = 0,

∂f

∂y
(0, 0) = 5x2y4 + 4x4y3 = 0.

Moreover f(0, 0) = 0 with

f(x, y) = x2y4(y + x2).

The term x2y4 is nonnegative, and y+ x2 changes sign in some small neighbor-
hood of the origin. Thus (0, 0) cannot be a local extremum, and it must be a
saddle point.

The following examples show the ambiguous case.

Example 15.4. (1) First consider the function

f(x, y) = (y − x)2 − x4.

By setting partials to be zero, we get

∂f

∂x
= 2(x− y)− 4x3 = 0

∂f

∂y
= 2(y − x) = 0
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which yield (0, 0) being the only critical point. Then since

∂2f

∂x2
= 2− 12x2,

∂2f

∂x∂y
=

∂2f

∂y∂x
= −2,

∂2f

∂y2
= 2

the second differential is d2f(0,h) = 2h2
1 − 4h1h2 + 2h2

2 = 2(h1 − h2)
2 ≥ 0. Or

one can check the Hessian at origin has vanishing determinant. Thus this is
the ambiguous case. Along the path parametrized by (t, t) we have

f(t, t) = −t4 < 0

near 0; along the path parametrized by (t, 2t) we have

f(t, 2t) = t2 − t4 > 0

near 0. Together with the fact that f(0, 0) = 0, the origin is a saddle point.
(2) Now consider the function

f(x, y) = (y − x)2 + x4 + y5,

and it is easy to see the origin (0, 0) is a critical point. Now we want to
check whether (0, 0) is a local extremum or a saddle point. Again, the second
differential

d2f(0,h) = 2(h1 − h2)
2 ≥ 0

for any h ∈ R2. Thus it also falls into an ambiguous case. We set t = y − x
and thus y = x+ t and consider

g(x, t) = t2 + x4 + (x+ t)5

at the origin (0, 0). The natural guess is that near the origin t2 + x4 is the
dominant terms, thus we should have (0, 0) to be a local min. And we only
need to consider locally when x+ t < 0 since by taking fifth power, the term
(x+ t)5 will have negative contribution. Note that

x ≤ |x| ≤ (x4 + t2)1/4,

t ≤ |t| ≤ (x4 + t2)1/2.

Now we will consider (x, t) in B(0, ϵ) for ϵ > 0 sufficiently small. Let z = x4+t2,
then in such neighborhood z is sufficiently small, and thus

z1/5 − z1/4 − z1/2 = z1/5(1− z5/4 − z5/2) > 0.

It means that

x+ t ≤ |x|+ |t| ≤ (x4 + t2)1/4 + (x4 + t2)1/2 < (x4 + t2)1/5
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which implies
|x+ t|5 < x4 + t2.

Therefore in a sufficiently small neighborhood of the origin,

t2 + x4 − |(x+ t)5| ≥ (t2 + x4)− (x4 + t2) = 0.

In particular, back to the original coordinate (x, y) from the current (x, t) we
only need to restrict to a smaller ball, for example B(0, ϵ/2). Since when
(x, y) ∈ B(0, ϵ/2), it guarantees that |t| = |x − y| < ϵ as well. It shows that
(0, 0) is indeed a local min.

16 March 17

A special case for the above sufficient condition is when we have two variables, i.e.,
n = 2, and d2(a,h0) ̸= 0 for some h0 ∈ R2, i.e., k = 2. In this case, the sufficient
condition can be reinterpreted in the following way. Let h0 = (h1, h2) and a be a
critical point, then the second differential can be realized as a quadratic form in
terms of h1, h2:

d2(a,h0) = Qf (a,h0) = Ah2
1 + 2Bh1h2 + Ch2

2

where

A =
∂2f

∂x2
(a), B =

∂2f

∂x∂y
(a) =

∂2f

∂y∂x
(a), C =

∂2f

∂y2
(a)

and the Hessian matrix of f at a is precisely given by

Hf (a) =

(
A B
B C

)
.

Thus
(1) If Qf (a,h0) is indefinite, i.e., detHf (a) < 0 then a is a saddle point;
(2) If Qf (a,h0) is positive definite, then a is a strict local min. Or one can check

if A > 0 and detHf (a) > 0, then it also implies a is a local min;
(3) If Qf (a,h0) is negative definite, then a is a strict local max. Or one can check

if A < 0 and detHf (a) > 0, then it also implies a is a local max.
Note that this is nothing different from the original sufficient condition, we only

use different terminology to describe the sign of d2f(a,h). Here is an example:

Example 16.1. Consider the function

f(x, y) = (1 + ey) cosx− yey.

Find all the critical points, and determine whether they are local extrema or saddle
point.
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First set all partials equaling zero:

∂f

∂x
= −(1 + ey) sinx = 0,

∂f

∂y
= ey(cosx− 1− y) = 0.

Thus the critical points are (i) (2kπ, 0) and (ii) ((2k + 1)π,−2). Now let us compute
all the second partials:

∂2f

∂x2
= −(1 + ey) cosx,

∂2f

∂x∂y
=

∂2f

∂y∂x
= −ey sinx,

∂2f

∂y2
= ey(cosx− 2− y).

It can be checked easily that (I am going to use the same notation A,B,C as above
for simplicity):

� At a = (2kπ, 0):
A = −2, B = 0, C = −1,

or in other words
d2f(a, (h, k)) = −2h2 − k2 < 0

for nonzero (h, k) ̸= 0. Thus (2kπ, 0) are local max.
� At a = ((2k + 1)π,−2):

A = 1 + e−2, B = 0, C = −e−2,

and detHf (a) = −e−2(1 + e−2) < 0. Thus ((2k + 1)π,−2) are saddle points.

Recall that

Proposition 16.2. Let D ⊂ Rn be closed and bounded, and f : D → R be differen-
tiable on D◦. Then the absolute extrema of f are attained at either a critical point
of f or a boundary point of the domain D.

In practice, to locate absolute extrema over a compact set for a “nice” multi-
variable function, we first find all critical points. And find the boundary ∂D of its
domain D. For example if the ambient space is R2, the boundary of a region D in
R2 is just some 1-dimensional pieces, so that we can apply the method of finding
extremal values in one variable calculus. Finally we compare the evaluation of f at
those points and determine the greatest and least values among those.

Let us start with an easy example:

Example 16.3. Consider the function f : R2 → R defined by

f(x, y) = y3(y − 1 + x2).
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Let’s find the critical points first. Set

∂f

∂x
= 2xy3 = 0,

∂f

∂y
= y2(4y − 3 + 3x2) = 0.

Then the critical points are (i) all the points on x-axis, i.e., y = 0; (2) point (0, 3/4).
All the points on the x-axis are saddle points. But if we restrict the domain to the
compact set

D = {(x, y) | 0 ≤ y ≤ 1− x2},

then all the points on the boundary ∂D are absolute max. Since f is continuous on
the compact set D, it must attain its absolute min and max on D. We already know
f attains its max on the boundary, so it attains its min at some interior point of D.
And the point where f attains its min has to be a critical point, therefore (0, 3/4) is
an absolute min of f on D.

Now let us consider the function to be

f(x, y) = y3(y − 1 + x2)2.

The graph has been shown as above. In this case the points lying on the parabola
are also critical points. Since

∂f

∂x
= 4xy3(y − 1− x2) = 0,

∂f

∂y
= y2(y − 1 + x2)(5y − 3 + 3x2) = 0

the critical points are (i) points on x-axis; (ii) points on the parabola given by
y = 1− x2; (iii) (0, 3/5). In this case, all the points on the x-axis are saddle points;
points on parabola with y > 0 are local min; points on parabola with y < 0 are local
max. Restrict to the compact region D, the points on the boundary are absolute
min, and the critical point (0, 3/5) is an absolute max, by the same argument as
above.

A slightly complicated example is

Example 16.4. Consider the function f : D → R defined by

f(x, y) = 4xy − 2x2 − y4
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on the compact domain
D = [−2, 2]× [−2, 2].

Since f is continuous defined on compact set D it attains its max and min on D.
First find interior points where the function f has vanishing partials:

∂f

∂x
= 4y − 4x = 0,

∂f

∂y
= 4x− 4y3 = 0.

The critical points are (0, 0), (1, 1) and (−1,−1). Restricting to the boundary, we
only need to consider four one-variable functions

f(x, 2), f(x,−2), f(2, y), f(−2, y).

I will only do f(x, 2) here and the other three follow similarly. Consider

f(x, 2) = 8x− 2x2 − 16, x ∈ [−2, 2].

Since 8x − 2x2 − 16 = −2(x2 − 4x + 4) − 8 = −2(x − 2)2 + 8, f(x, 2) attains its
max at x = 2 and min at x = −2. Thus we need also take (2, 2) and (−2, 2) into
account. For f(2, y) = 8y − 8− y4 on y ∈ [−2, 2], we can also find the critical point
by setting 8− 4y3 = 0 thus we have the only critical point y = 3

√
2. Together with

the boundary point of [−2, 2] we need to compare f(2, 2), f(2,−2) and f(2, 3
√
2)

to get the absolute extrema for f(2, y) on y ∈ [−2, 2]. One can check that f(2, y)
attains its max at y = 3

√
2 and its min at y = −2. Completing the discussion we

could get the absolute max and min of f(x, y) on the closed square D.

For more general constraints, one may need to apply Lagrange multiplier which
we are not going to cover here (maybe later).

17 March 22 & 23

Now we move on to Inverse and Implicit Function Theorem. The Inverse Function
Theorem tells us that under which circumstances a function is locally a diffeomor-
phism. Namely, recall that

Theorem 17.1. Let f : V → Rn where V ⊂ Rn is open and f ∈ Ck(V ) (1 ≤ k ≤ ∞).
Let a ∈ V with f(a) = b and Df(a) is invertible, i.e., detDf(a) ̸= 0, then

� there exists an open set W ⊂ V containing a such that f is one-to-one on W
and f(W ) is open in Rn;

� f−1 : f(W ) → W is also Ck on f(W ),
where the above two mean f : W → f(W ) is a Ck diffeomorphism, and moreover,

� Df−1(b) = Df(a)−1.
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Note that in the lecture we proved the theorem by constructing a contraction
map and apply the contraction principle. But it can also be proved by applying
Implicit Function Theorem to F : V × Rn → Rn defined by F (x,y) = y − f(x) at
(a, b) where f(a) = b in order to solve variables x in terms of y.

The theorem stated as above is only a local result. Even if we have Df(x)
invertible everywhere, the result is still local, i.e., it does NOT mean that f has a
global inverse on the entire domain V . We have already seen one classical example
in class, namely f(x, y) = (ex cos y, ex sin y). There are other examples such as polar
coordinate transformation. The other essential condition for using Inverse Function
Theorem is the dimension of the ambient space of the domain and codomain must
be the same since otherwise we cannot talk about the invertibility of the Jacobian.

In order to get a global version of the Inverse Function Theorem, we can add
conditions on the function f being one-to-one on its domain V and detDf(x) ̸= 0
for any x ∈ V .

Note that the Jacobian matrix is a linear operator on tangent spaces. We can
define what is called an immersion: Given a differentible function f : U → V
where U ⊂ Rn and V ⊂ Rm are open sets, we call f an immersion if the rank of the
Jacobian matrix is constant n, i.e., Df has full column rank everywhere, which is
equivalent to say that that the linear map Df is everywhere injective on U .

Example 17.2. Give a Ck function f : U → V . Assume f is a bijection and also an
immersion, then we immediately get the relation on the dimension: n ≤ m. Moreover
n < m cannot happen, since if it happens, for any a ∈ V since rankDf(a) = n the
Jacobian Df(a) must contain an invertible n× n minor, say

det
∂(yi1 , · · · , yin)
∂(x1, · · · , xn)

̸= 0.

By the Inverse Function Theorem, there exists some open neighborhood of a such
that x1, · · · , xn can be locally considered as Ck functions in terms of yi1 , · · · , yin .
But since n < m there are different points (y1, · · · , ym) corresponding to the same
point (x1, · · · , xn) which contradict the assumption that f being one-to-one. Thus
we must have n = m.

Let’s do some computation:

Example 17.3. Consider the function f : R2
x,y → R2

u,v given by

f(x, y) = (x2 − y2, 2xy)

where we write u = f1(x, y) = x2 − y2 and v = f2(x, y) = 2xy.
(1) Show that there exists a neighborhood U of (2, 1) ∈ R2 such that f : U → f(U)

has an inverse f−1 : f(U) → U .
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First compute the Jacobian of f(x, y):

Df(x, y) =


∂f1
∂x

∂f1
∂y

∂f2
∂x

∂f2
∂y

 =

(
2x −2y
2y 2x

)
.

And thus

Df(2, 1) =

(
4 −2
2 4

)
, detDf(2, 1) ̸= 0.

By Inverse Function Theorem, there exists some open neighborhood U of (2, 1)
on which f has an inverse.

(2) Compute g′(1) where g(t) = h(f−1(3t2, 4t)) with f−1 is in (1) and h(x, y) =
xy2.
By Inverse Function Theorem, locally we have

f−1(u, v) = (F (u, v), G(u, v))

i.e., locally x = F (u, v), y = G(u, v) and we are solving x, y in terms of u, v,
with Jacobian

Df−1(u, v) = Df(x, y)−1 =
1

4(x2 + y2)

(
2x −2y
2y 2x

)T

=

∂F

∂u

∂F

∂v
∂G

∂u

∂G

∂v

 .

It implies that

∂F

∂u
=

x

2(x2 + y2)
,
∂F

∂v
=

y

2(x2 + y2)
,
∂G

∂u
=

−y

2(x2 + y2)
,
∂G

∂v
=

x

2(x2 + y2)
.

Now we can compute the derivative g′(t) with g(t) = h(f−1(3t2, 4t)):

g′(t) =
∂h

∂x
(f−1(3t2, 4t))

(
∂F

∂u
(3t2, 4t)6t+

∂F

∂v
(3t2, 4t)4

)
+

∂h

∂y
(f−1(3t2, 4t))

(
∂G

∂u
(3t2, 4t)6t+

∂G

∂v
(3t2, 4t)4

)
.

Now set t = 1 then f−1(3, 4) = (2, 1) because f(1, 2) = (3, 4). Notice that we
only have formula for these partials in terms of x, y (not u, v). Thus

g′(1) = (y2)|(2,1)
[

x

2(x2 + y2)
· 6 + y

2(x2 + y2)
· 4
]
(2,1)

+ (2xy)|(2,1)
[

−y

2(x2 + y2)
· 6 + x

2(x2 + y2)
· 4
]
(2,1)

=
12

5
.
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The Implicit Function Theorem tells us that when the variables y is (locally)
implicitly defined by an equation f(x,y) in terms of x. Geometrically, suppose we
have a hypersurface defined by z = f(x,y), take a level set by setting z = 0, we
want to know around a given point (a, b), whether there exists a function g(x) such
that y = g(x) solves the equation f(x,y) = 0, i.e., the graph of g agrees with the
zero set of f locally near (a, b).

Before getting into the standard local version of the Implicit Function Theorem,
we have seen one of the global versions in class,

Theorem 17.4. Suppose that f : A × I → R where A ⊂ Rn is open and I =
(b1, b2) ⊂ R is an interval. For any fixed x ∈ A, suppose

� the one-variable function f(x,−) : y → f(x, y) is differentiable with respect to
y and ∂f

∂y (x, y) > 0 for all y ∈ I, and

� limy→b+1
f(x, y) < 0 while limy→b−2

f(x, y) > 0,

then there exists a unique function g : A → I such that y = g(x) is implicitly defined
by f(x, y) = 0.

The key point for proving this global theorem is to apply the Intermediate Value
Theorem to the continuous function f(x,−). The strict monotonicity together with
the limit condition guarantee that there exists a uniquely y associated to any fixed x
to make f(x, y) = 0 and such correspondence precisely constructs the function g(x)
as we want. Therefore we can use the same idea, to get another global version,

Theorem 17.5. Suppose that f : A × I → R where A ⊂ Rn is open and I =
(b1, b2) ⊂ R is an interval. For any fixed x ∈ A, suppose there is a positive c > 0
such that

∂f

∂y
(x, y) ≥ c

for any y ∈ I, then there is a unique function g : A → I such that y = g(x) is
implicitly defined by f(x, y) = 0.

This is a direct consequence of the following lemma in one-variable calculus:

Lemma 17.6. Suppose that f : R → R is differentiable and there exists a positive
real number c such that f ′(x) ≥ c for any x ∈ R, then f has a unique root in R.

Proof. First notice that f is strictly increasing, thus it has at most one root. Consider
the value f(0). If f(0) = 0 then we are done, and x = 0 has to be its unique root. If
f(0) > 0, apply the MVT to f on the interval [−f(0)/c, 0], then there exists some t
in between such that

f(0)− f(−f(0)/c) = f ′(t)
f(0)

c
≥ f(0)

which implies that f(−f(0)/c) ≤ 0, meaning that there is at least a root in
[−f(0)/c, 0]. Likewise we can prove for f(0) < 0.
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Let us see one example about the global implicit function theorem. There are
several more examples with analysis on the extreme values of the implicit function
in the lecture notes and homework.

Example 17.7. Consider the function f : R2 → R defined by

f(x, y) = x2y3 + 2y − cos y.

For any fixed x ∈ R, view f(x, y) as a function in terms of y, then

∂f

∂y
(x, y) = 3x2y2 + 2 + sin y ≥ 1

for any y ∈ R. Thus there exists a unique y ∈ R with f(x, y) = 0 for the fixed x. It
then defines a function g : R → R with y = g(x) implicitly defined by f(x, y) = 0.
We can further compute

y′ = g′(x) =
−2xy3

3x2y2 + 2 + sin y

it has only one critical point at x = 0. This is because y = g(x) > 0 for any x ∈ R.
Let us now prove this claim. Firstly, the implicit function y = g(x) is symmetric
about x = 0, thus we only need to consider x ≥ 0. Secondly, y = g(x) ̸= 0 for any
x ∈ R since

f(x, 0) = − cos 0 ̸= 0.

Since g(x) is continuous it is either positive or negative by Intermediate Value
Theorem. Moreover, if x = 0, then y0 = g(0) must satisfy

f(0, y0) = 2y0 − cos y0 = 0

thus y0 = g(0) > 0. Therefore y = g(x) > 0 for all x ∈ R. Furthermore, g(x) attains
its absolute max at x = 0 because

x2 =
cos y − 2y

y3
≥ 0

meaning that cos y − 2y ≥ 0 which implies that y = g(x) < y0 = g(0) for any x ∈ R.

Another example goes:

Example 17.8. Consider f(x, y) = x4+y3+x2+y2+1. Then there exists a unique
y = g(x) implicitly defined by f(x, y) = 0 on R× (−∞,−2/3). But there is no such
g implicitly defined on R× (0,∞).

For any fixed x ∈ R, we have

∂f

∂y
(x, y) = 3y2 + 2y = y(3y + 2) > 0
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for y ∈ (−∞,−2/3). It is also easy to see that f(x, y) is continuous in y for any
fixed x ∈ R. We also have

lim
y→−∞

f(x, y) = −∞, lim
y→− 2

3
−1

f(x, y) = (x4 + x2 + 1) + y2(y + 1)|−2/3 > 0

hold for any fixed x ∈ R. By the global implicit function theorem there exists a unique
g(x) such that y = g(x) is implicitly defined by f(x, y) = 0 on R× (−∞,−2/3).

On R× (0,∞), by way of contradiction, if there exists such function g(x), since
again for any fixed x ∈ R

∂f

∂y
= y(3y + 2) > 0

for any y > 0. It means that f(x, y) is strictly increasing in terms of y for any fixed
x. Moreover,

lim
y→0+

f(x, y) = x4 + x2 + 1 > 0, lim
y→∞

f(x, y) = ∞.

Together with the fact that y 7→ f(x, y) is continuous on (0,∞), we cannot have
f(x, y) = 0 on R× (0,∞).

For the local Implicit Function Theorem, we can roughly interpret as following:

for instance, consider a surface z = f(x, y) in R3 with the level set cut out by the
hyperplane z = 0. The theorem tells us that at which point, in the xy-plane, can
the curve locally be viewed as a graph of some function y = g(x). It is to see that
locally the curve cannot have vertical tangent line, which is precise when the gradient
direction has zero y contribution, i.e., ∂f

∂y = 0.

18 April 5

The local version of implicit function theorem is stated as follows:
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Theorem 18.1. Suppose f : Ω → Rm where Ω ⊂ Rn × Rm is an open subset is
of class C1 on Ω. And (x0,y0) ∈ Ω satisfies f(x0,y0) = 0 and Dyf(x0,y0) is
invertible. Then there exists an open neighborhood U ⊂ Rn of x0 and a unique
function g : U → Rm which is implicitly defined by f(x,y) = 0 such that y0 = g(x0).
The function g ∈ C1(U) and

Dg(x) = −(Dyf(x, g(x)))
−1Dxf(x, g(x))

for any x ∈ U .

Let’s see some examples:

Example 18.2. Consider a function f : R3 → R given by

f(x, y, z) = z + x2 + xz + y3 + z3.

(1) There exists a function g : R2 → R such that z = g(x, y) is implicitly defined
by f(x, y, z) = 0 which is of class C1 in some neighborhood of (0, 0) ∈ R2.
First of all

∂f

∂x
= 2x+ 2,

∂f

∂y
= 3y2,

∂f

∂z
= 1 + x+ 3z2

all of which are continuous on R3 thus the function f is of class C1. Also notice
that f(0, 0, 0) = 0 now since

Dzf(0, 0, 0) =
∂f

∂z
(0, 0, 0) = 1 > 0

by implicit function theorem we get the existence of such g : R2 → R which is
of class C1 in some neighborhood of (0, 0).

(2) We can also compute the partial derivative of the implicit function g(x, y).
For example, near (0, 0) we have f(x, y, g(x, y)) = 0 thus by Chain rule to
differentiate with respect to x:

∂f

∂x
(x, y, g(x, y)) +

∂f

∂z
(x, y, g(x, y))

∂g

∂x
(x, y) = 0

together with g(0, 0) = 0 we get

∂g

∂x
(0, 0) = 0.

Differentiate with respect to x one more time, we get

∂2f

∂x2
+

∂2f

∂z∂x

∂g

∂x
+

(
∂2f

∂x∂z
+

∂2f

∂z2
∂g

∂x

)
∂g

∂x
+

∂f

∂z

∂2g

∂x2
= 0

for which we can compute ∂2g
∂x2 (0, 0) = −2.
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(3) But the origin (0, 0) is not a local extremum for g.
Consider the sign of g(0, y) around the origin. The implicit function theorem
says that f(0, y, z) = 0 with z = g(0, y) around the origin, then

f(0, y, z) = z + y3 + z3 = 0

and thus z(z2+1) = −y3. Thus z = g(0, y) changes signs around y = 0 because
z2 + 1 > 0 and the sign of y3 changes around y = 0. Thus (0, 0) cannot be
a local extremum for g. (It is a critical point since one can check it has zero
gradient, so it has to be a saddle point.)

Consider another example:

Example 18.3. Given an equation

F (x, y) = x2 + y + sin(xy) = 0

(1) In some sufficiently small neighborhood of (0, 0), there is a unique continuous
function y = g(x) which is implicitly defined by the equation such that g(0) = 0.
This is simply due to the fact that

∂F

∂y
(0, 0) = 1 + x cos(xy)|(0,0) = 1 ̸= 0

and F (0, 0) = 0. Thus by the implicit function theorem, locally near the origin
there is a unique function y = g(x) implicitly determined by the equation and
0 = g(0). Moreover since F ′

x and F ′
y are both continuous the implicit function

y = g(x) has to be C1 as well. And we can compute the derivative of the
function g:

g′(x) = −F ′
x

F ′
y

=
2x+ y cos(xy)

1 + x cos(xy)
.

(2) Now let us discuss the monotonicity of the continuous implicit function y = g(x).
Consider the sign of g′(x). Near the origin, the denominator

1 + x cos(xy) ≥ 1− |x| > 0.

Thus the monotonicity depends on the sign of −(2x+ y cos(xy)). As g(0) = 0,
we have g′(0) = 0. This means that y = o(x) as x → 0. Therefore |y cos(xy)| ≤
|y| = o(x) near x = 0 and thus the sign of g′(x) is the same as −2x. In
conclusion, if x > 0 then g′(x) < 0 thus y = g(x) is decreasing; if x < 0 then
g′(x) > 0 thus y = g(x) is increasing. So the implicit function y = g(x) attains
its absolute maximum at x = 0.

(3) In general there will be no way to see if x can be explicitly written as a function
in terms of y which is implicitly defined by F = 0 near the origin (0, 0). This
is because

∂F

∂x
(0, 0) = (2x+ y cos(xy))(0,0) = 0.
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But from the result in (2), we know that the function y = g(x) attains its
absolute max at x = 0 thus near (0, 0), when y < 0 there are at least two x
with F (x, y) = 0; but when y > 0 there is no such x such that F (x, y) = 0.
Therefore near (0, 0), there is no function x = h(y) which is uniquely and
implicitly defined by F (x, y) = 0 with F (0, 0) = 0.

19 April 6

One more example:

Example 19.1. Verify the system{
ez + 3x− cos y + y = 0

ex − x− z + y − 1 = 0

defines implicitly around (0, 0, 0) a curve in R3 with parametrized equations x =
t, y = y(t) and z = z(t). Find the equation of the tangent line at (0, 0, 0).

Let f1(x, y, z) = ez + 3x − cos y + y and f2(x, y, z) = ex − x − z + y − 1 and
f = (f1, f2). Note that f(0, 0, 0) = (f1(0, 0, 0), f2(0, 0, 0)) = (0, 0). Moreover

∂f1
∂x

= 3,
∂f1
∂y

= sin y + 1,
∂f1
∂z

= ez,
∂f2
∂x

= ex − 1,
∂f2
∂y

= 1,
∂f2
∂z

= −1

which imply f is C1 and

Dy,zf =


∂f1
∂y

∂f1
∂z

∂f2
∂y

∂f2
∂z

 =

(
sin y + 1 ez

1 −1

)
.

It is easy to check that Dy,zf(0, 0, 0) is invertible. Thus by implicit function theorem
there are functions y = y(x) and z = z(x) which are uniquely and implicitly defined
by the system f(0, 0, 0) = 0 with y(0) = 0, z(0) = 0. Therefore locally near (0, 0, 0),
the system has a parametrization (t, y(t), z(t)).

To compute the tangent line at (0, 0, 0) we only need to compute y′(0) and z′(0).
Since

(Dy,zf(0, 0, 0))
−1 =

1

−2

(
−1 −1
−1 1

)
and

Dxf(0, 0, 0) =

(
3

ex − 1

)
x=0

=

(
3
0

)
,

we have (
y′(0)
z′(0)

)
=

1

2

(
−1 −1
−1 1

)(
3
0

)
=

(
−3/2
−3/2

)
.
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Thus the tangent line at (0, 0, 0) is given by x = t, y = −3t/2, z = −3t/2.
Alternatively, since the tangent line lies on the tangent planes of the given two

surfaces, we only need to compute the intersection of two tangent planes at (0, 0, 0).
Since the normal vectors are

(3, sin y + 1, ez)(0,0,0) = (3, 1, 1), (ex − 1, 1,−1)(0,0,0) = (0, 1,−1),

the tangent line is given by the solution of the linear system{
3x+ y + z = 0

y − z = 0

which is given by (t,−3t/2,−3t/2).

Another application of implicit function theorem is to find constrained extrema,
i.e., Lagrange multiplier. The question is formulated in the following: Given f :
A → R where A ⊂ Rn is an open set, and h : Rn → Rm. Find the extrema of f
subject to the constraints h(x) = 0.

In some special cases, we don’t need to use the Lagrange Multiplier. For example

Example 19.2. Find the extrema of f(x, y) = ex
2−y2

where (x, y) satisfies the
relation x2 + y2 = 1.

In this case, under the relation, i.e., the points are chosen on the unit circle, we
can write y2 = 1− x2. Thus ex

2−y2

= e2x
2−1 attains its min at x = 0 (then y = ±1),

and max at x = ±1 (then y = 0).

Now let us consider a simple case: Find the extreme of f(x, y) over A subject to
the relation h(x, y) = 0. Suppose that ∇h ̸= 0 everywhere in A, i.e., rank∇h = 1,
and suppose the point (x0, y0) is an extremum of f(x, y) with h(x0, y0) = 0. Since
∇h(x0, y0) ̸= 0 then by the implicit function theorem, there exists a unique function
y = y(x) around x0 which is implicitly defined by h(x, y) = 0. Precisely, we have
h(x, y(x)) = 0 for x ∈ (x0 − δ, x0 + δ) for some δ > 0. Differentiate with respect to x
we get

∂h

∂x
(x0, y0) +

∂h

∂y
(x0, y0)y

′(x0) = 0

and since (x0, y0) is an extremum of f thus

∂f

∂x
(x0, y0) +

∂f

∂y
(x0, y0)y

′(x0) = 0.

It implies that the following linear system with indeterminants α, β:
∂h

∂x
(x0, y0)α+

∂h

∂y
(x0, y0)β = 0

∂f

∂x
(x0, y0)α+

∂f

∂y
(x0, y0)β = 0
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has a nontrivial solution (1, y′(x0)). In other words, the coefficient matrix must
have zero determinant, i.e., ∇f(x0, y0) = λ∇h(x0, y0), which means that (x0, y0) is
a critical point of f − λh.

Above discussion gives a necessary condition for constrained extrema, just as
the Fermat theorem for the non-constrained case. It requires further discussion on
whether the critical points we obtained are indeed extrema values. Redo the example
above, first of all let h(x, y) = x2 + y2 − 1 and thus ∇h = (2x, 2y) ̸= 0 on the unit
circle. Now consider

F (x, y) = f(x, y)− λh(x, y) = ex
2−y2

− λ(x2 + y2 − 1).

To find critical points of F , setting ∂xF = ∂yF = 0 we get{
2xex

2−y2 − 2λx = 0,

2yex
2−y2

+ 2λy = 0.

The points should also be on the unit circle, thus if x = 0 then y = ±1, in this case
λ = −e−1; if y = 0 then x = ±1, in this case λ = e. Thus possible candidates for the
extrema are (0,±1) with f(0,±1) = e−1 and (±1, 0) with f(±1, 0) = e.

20 April 12

The Lagrange Multiplier Theorem (necessary condition for constrained extrema)
allows us to determine the absolute extrema of a multivariate real-valued function
f(x) subject to the constraint g(x) = 0. We introduce a new variable λ and try to
find solutions to

∇f(x)− λ∇g(x) = 0, g(x) = 0.

If we can ensure that f indeed has an absolute extremum on the vanishing set of g
(for instance the zero set of g is closed and bounded, and f is continuous), then the
absolute extremum of f is also a local extremum and it is attained at the solution x0

of above system for which ∇g(x0) ̸= 0 or at a point where the hypothesis does not
hold. Thus we need to check both the solutions to the system, and some exceptional
points in the zero set of g at which either ∇f or ∇g does not exist or at which
∇g = 0.

Example 20.1. Given a quadratic form

f(x1, x2, x3) = xAxT = a11x
2
1 + a22x

2
2 + a33x

2
3 + 2a12x1x2 + 2a23x2x3 + 2a13x1x3

determined by some 3 × 3 symmetric matrix A = (aij). Find the extrema on the
sphere h(x) = x2

1 + x2
2 + x2

3 − 1 = 0.
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The function f must attains its max and min because S2 is compact in R3.
Consider the function

F (x) = f(x)− λ(x2
1 + x2

2 + x2
3 − 1)

which has critical points on S2 (thus nonzero) as solutions of the following linear
system: 

(a11 − λ)x1 + a12x2 + a13x3 = 0,

a21x1 + (a22 − λ)x2 + a23x3 = 0,

a31x1 + a32x2 + (a33 − λ)x3 = 0,

x2
1 + x2

2 + x2
3 = 1.

In order to make the system have nontrivial solution the coefficient matrix should
have zero determinant. It is easy to see that the determinant is just the characteristic
polynomial and the solutions to the polynomial is the eigenvalues of the matrix A.
Thus for any eigenvalue λ of A, the linear system has a nonzero solution, which
can be rescaled to be on S2. Let (x1, x2, x3) be such a solution, with respect to
the eigenvalue λ. Then by multiplying the equations by x1, x2, x3 respectively and
summing them up, we get

f(x)− λ(x2
1 + x2

2 + x2
3) = f(x)− λ = 0

thus f(x1, x2, x3) = λ. In other words, the max of f is the max eigenvalue of A while
the min of f is the min eigenvalue of A.

The next example show that condition ∇g ̸= 0 cannot be dropped in the Lagrange
Multiplier Theorem.

Example 20.2. Take a cuspidal cubic curve defined by y2 − (x− 1)3 = 0. We want
to find the minimal distance from the origin (0, 0) to the point on the cuspidal cubic.
In other words, we want to find the minimum value of the function f(x, y) = x2 + y2

with constraint g(x, y) = y2 − (x− 1)3 = 0. It is easy to see from the picture that
the minimum is attained at the cusp (1, 0) with shortest distance

√
f(1, 0) = 1. But

we can compute
∇f(1, 0) = (2, 0), ∇g(1, 0) = (0, 0).

Therefore we don’t have ∇f(1, 0) and ∇g(1, 0) are collinear. Thus we can see from
this example that the conclusion may not hold if we drop the nonvanishing of the
gradient of g from the Lagrange Multiplier Theorem.

The method can also be used to prove some classical inequalities.

Example 20.3. Find the constrained minimum for the function

f(x, y, z) = x lnx+ y ln y + z ln z

62



subject to the constraint g(x, y, z) = x+ y + z − 1.
First, the domain for the function f is x > 0, y > 0, z > 0. Together with the

constraint x+ y + z = 1, we should look for the minimum over the set

E = {(x, y, z) ∈ R3 | 0 < x, y, z < 1}.

Moreover, it is easy to see that f(x, y, z) < 0 and supE f(x, y, z) = 0 since

lim
(x,y,z)→(1,0,0)

f(x, y, z) = 0.

In order to find the constrained min, using the Lagrange Multiplier. Define

L(x, y, z, λ) = (x lnx+ y ln y + z ln z)− λ(x+ y + z − 1).

Thus we should search for the solutions to the following system of equations:
lnx+ 1− λ = 0

ln y + 1− λ = 0

ln z + 1− λ = 0

x+ y + z − 1 = 0.

The only solution to this system is

x = y = z =
1

3
,

and this is where the function f attains its absolute min with constraint g = 0,
which is f(1/3, 1/3, 1/3) = − ln 3. Therefore we have on the hyperplane given by
x+ y + z = 1,

x lnx+ y ln y + z ln z ≥ − ln 3.

This can also be deduced from the Jensen’s inequality, by considering the convex
function h(x) = − lnx, since x+ y + z = 1, we have

h

(
x
1

x
+ y

1

y
+ z

1

z

)
≤ xh

(
1

x

)
+ yh

(
1

y

)
+ zh

(
1

z

)
which is exactly what we have obtained from Lagrange Multiplier. And it can be
easily generalized to n variables.

21 April 14

Let us consider one more example related to multiple constraints.
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Example 21.1. Let us find the point on intersection of two hyperplanes given by
x + y + z = 1 and 3x + 2y + z = 6 which has the shortest distance to the origin
(0, 0, 0). Denote

f(x, y, z) = x2 + y2 + z2,

h1(x, y, z) = x+ y + z − 1,

h2(x, y, z, ) = 3x+ 2y + z − 6.

We want to find the absolute min of f subject to the constraints h1 = h2 = 0.
Consider the function

L(x, y, z, λ, µ) = f − λh1 − µh2,

and we need to solve the system ∇L = 0, h1 = h2 = 0, more precisely.

2x− λ− 3µ = 0

2y − λ− 2µ = 0

2z − λ− µ = 0

x+ y + z = 1

3x+ 2y + z = 6.

It yields

x =
λ+ 3µ

2
, y =

λ+ 2µ

2
, z =

λ+ µ

2

by plugging into the constraints, we could get λ = −22/3 and µ = 4 and thus the
point (7/3, 1/3,−5/3) is the solution to the above system.

Now the function f must attain its absolute constrained minimum. Although the
intersection of two hyperplanes is not bounded, and function f is continuous and
the r-ball is always compact in R3 for some r2 = x2

0 + y20 + z20 where (z0, y0, z0) is
some point on two hyperplanes. Therefore the constrained absolute min is attained.
Moreover we can check that ∇h1 = (1, 1, 1) and ∇h2 = (3, 2, 1) and they are nonzero
everywhere and not collinear. Thus the point (7/3, 1/3,−5/3) has to be point we
are looking for.

The integrability of multivariable functions is unlike the single variable case since
the region for integration in Rn is more complicated than intervals. Let us start
with integrability on n-rectangles in Rn and then introduce the notion of Jordan
region, i.e., a subset which is Jordan measurable. Then we can define the Riemann
integrability over Jordan regions.

Recall that given an n-rectangle Q ⊂ Rn and a bounded function f : Q → R. We
say the function f is Riemann integrable on Q, denoted by f ∈ R(Q) if∫

Q

f = sup
G

L(f,G) = inf
G

U(f,G) =

∫
Q

f
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where G = {R1, · · · , Rp} is a grid of Q and U(f,G), L(f,G) are upper and lower
sum defined in the similar way in single variable integration.

Similarly, we also have the Darboux epsilon condition for integrability. Namely if
f : Q → R is bounded over Q then f ∈ R(Q) if and only if for any ϵ > 0 there is a
grid G of Q such that U(f,G)− L(f,G) < ϵ.

Example 21.2. The function given by

f(x, y) =

{
1 if y > x;

0 if y ≤ x,

is Riemann integrable on unit square [0, 1]2.
First of all f is bounded on R2. For any ϵ > 0, partition the rectangle [0, 1]2

evenly by dividing each side into n intervals each of length 1/n. Call this grid G and
compute the upper and lower sum of f with respect to the grid G as follows

U(f,G) =

n2∑
j=1

Mj(f)
1

n2
=

n(n+ 1)

2

1

n2
=

n(n+ 1)

2n2
,

L(f,G) =

n2∑
j=1

mj(f)
1

n2
=

(1 + n− 2)(n− 2)

2

1

n2
=

(n− 2)(n− 1)

2n2
.

Thus

U(f,G)− L(f,G) =
1

2n2
(4n− 2) <

2n

n2
=

2

n
< ϵ

and we can take n be any natural number greater than 2/ϵ.

Using the integrability over rectangles, one can defined a set being Jordan
measurable, in other words, a set over which the constant 1 function is integrable.
To be precise, let Ω ⊂ Rn be a bounded subset, with Ω ⊂ Q for some n-rectangle Q,
then Ω is said to be Jordan measurable if the characteristic function χΩ is integrable
over Q. In this situation, we define the Jordan content |Ω| of the set Ω as

|Ω| =
∫
Ω

dx =

∫
Q

χΩ(x)dx.

The definition for the Jordan region is well-defined, i.e., it does not depend on
the choice of rectangle Q. This is because if Q,Q′ are two rectangles containing Ω,
we can prove using definition that∫

Q

χΩ =

∫
Q∩Q′

χΩ =

∫
Q′

χΩ.

The main reason we consider integration over a Jordan region is because we
want the boundary of the region to have arbitrarily small contribution to the sum.
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This intuitively gives the characterization of a bounded set Ω ⊂ Rn being Jordan
measurable: if and only if the boundary |∂Ω| has Jordan content zero. Moreover, we
can also characterize Jordan content zero sets using finite cover of closed rectangles.
Namely, a bounded set Ω ⊂ Rn is Jordan measurable with content zero if and only
if for any ϵ > 0 there exists a finite collection of closed rectangles R1, · · · , RN such
that

Ω ⊆
N⋃

k=1

Rk,

N∑
k=1

|Rk| < ϵ.

Let us consider several examples of Jordan content zero sets:

Example 21.3. � Line segments in R2 have Jordan content zero. Note that
they do NOT have content zero as subsets in R, and thus the concept of Jordan
content zero heavily relies on the ambient space.
For simplicity, let us consider the line segment

L = {(x, x) ∈ R2 | x ∈ [0, 1]}.

For any ϵ > 0, take N = [1/ϵ] + 1 and cover L by N rectangles {R1, · · · , RN}
each of which has side length 1/N . Thus

N∑
i=1

|Ri| =
N

N2
=

1

N
< ϵ

and hence L has Jordan content zero.
� Unit circle S1 ⊂ R2 has Jordan content zero.
Divide 2π evenly into 2n angles, i.e., θ = 2π

2n = π
2n−1 . Cover each circular

sector by a rectangle with side lengths sin( π
2n−1 ) and 1− cos( π

2n−1 ). Thus S
1

is covered by 2n rectangles with total volumes

2n sin
π

2n−1

(
1− cos

π

2n−1

)
→ 0

as n → 0.
� Every finite set in Rn has Jordan content zero. But there are also infinite sets
which also have content zero. For instance the set

E =

{
1

n

∣∣∣∣n ∈ N
}

⊂ R.

(For higher dimensional example, one can take {(1/n, 1/m)} similarly.)
For any ϵ > 0, take the first interval I1 = [0, ϵ/2]. Then all but finitely
many points in E are in I1. But finite set has content zero so we are done.
Alternatively, to be explicit, say {1, 1/2, · · · , 1/m} are not in I1. Take

I2 = [1, 1 + ϵ/22], · · · , Im+1 = [m,m+ ϵ/2m+1],
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then
m+1∑
j=1

|Ij | =
ϵ

2

(
1 +

1

2
+ · · ·+ 1

2m

)
< ϵ.

In general, we have a convergent sequence in Rn has Jordan content zero.
There are also examples(for sure!) of infinite sets which are not even Jordan
measurable. For example, E = [0, 1]n ∩Qn ⊂ Rn. This is because∫

[0,1]n
χE = 1 ̸= 0 =

∫
[0,1]n

χE .

Thus Jordan measure is not countably additive for nonoverlapping content zero
sets, (but Lebesgue measures is).

� Later we will see any curve in Rn which has a lipschitz continuous parametriza-
tion γ : [0, 1] → Rn is of Jordan content zero.
But note that images of parametric curves in Rn are not necessarily of content
zero. More precisely, there can be continuous functions x(t), y(t) from [0, 1] to
R such that {(x(t), y(t)) | t ∈ [0, 1]} ⊂ R2 is not of content zero. For example
the space-filling curves, which can be the entire unit square.

� It can be easily deduced from the characterization that if Ω ⊂ Rn has content
zero, then every subset of Ω is of content zero; Finite union of content zero
sets has content zero.

22 April 21

Let us extend a little bit about the argument above regarding to the parametrized
curves. It is true that

� if γ : [0, 1] → Rn is C1, i.e., continuously differentiable, then γ([0, 1]) has
Jordan content zero;

� if γ : [0, 1] → Rn is Lipschitz continuous, then γ([0, 1]) has Jordan content zero.
But, note that it is NOT true that the image of any continuous curve is of content zero,
or even Jordan measurable. Moreover, there are examples of continuous functions
(x(t), y(t)) : [0, 1] → R2 such that the image

{(x(t), y(t)) | t ∈ [0, 1]} ⊆ R2

is not of content zero or not even a Jordan measurable set. Let’s consider a special
curve in the following examples starting with a one dimensional example of “compact
sets are not necessarily Jordan measurable, (but they are Lebesgue measurable)”,
called Fat Cantor set.

Example 22.1 (Fat Cantor set). This is an example of compact set in R which is
not Jordan measurable. The fat Cantor set is a slight modification of the standard
Cantor set, i.e., the proportion removed in each step is not a constant 1/3.
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Recall that the Cantor set C is compact uncountable with measure zero (thus
it is also of Jordan content zero). Moreover, it has empty interior, i.e., it contains
no intervals, every point in C is a boundary point, i.e., ∂C = C, and it is nowhere
dense C

o
= ∅.

Peano and Jordan noticed that there is a set even in R, with empty interior, but
still cannot be covered with finite intervals with total volume zero. The idea is to
start with the construction of Cantor set but try to make it slightly fatter.

The fat Cantor set is constructed as follows, start with the interval [0, 1]:
1) Remove the middle (open) 1/4 from [0, 1], i.e., remove I1 = ( 38 ,

5
8 ) from [0, 1],

we have the following union left[
0,

3

8

]
∪
[
5

8
, 1

]
;

2) Remove the middle (open) subintervals of length 1/42 from the remaining
21 intervals in the previous step, i.e., remove I2 = ( 5

32 ,
7
32 ) ∪ ( 2532 ,

27
32 ), the

remaining union becomes[
0,

5

32

]
∪
[
7

32
,
3

8

]
∪
[
5

8
,
25

32

]
∪
[
27

32
, 1

]
;

n) Remove the middle (open) subintervals of length 1/4n from the remaining 2n−1

intervals in the previous step n− 1. Call the removed interval In as used above.
Continue this process inductively, the fat Cantor set is defined by

CF = [0, 1] \
∞⋃

n=1

In.

The fat Cantor set CF has the followings properties:
� We remove a sequence of open sets {In} each being a finite union of disjoint

open intervals. Thus CF is closed since it is a complement of an open set, and
it is bounded, thus compact.

� The total length removed is

∞∑
n=1

2n−1 1

4n
=

∞∑
n=0

2n

22n+2
=

1

4

∞∑
n=0

1

2n
=

1

2
.

Thus CF has positive measure.
� Similar to the Cantor set, the fat Cantor set CF has empty interior, i.e.,
∂CF = CF . And it is nowhere dense as well.

� But the fat Cantor set CF is not Jordan measurable. Let P be any partition
of [0, 1] and let Qn be the partition given by the n-th step of iteration. Thus
Pn = P ∪Qn is finer than P thus

1

2
< U(χCF

, Pn) ≤ U(χCF
, P ).
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It implies that the outer Jordan measure is bounded below by 1/2 but the
inner Jordan measure is zero (it contains no interval) thus it is not Jordan
measurable.

Example 22.2 (Osgood curve). A Osgood curve C is a plane curve which is not
self-intersecting, i.e., it is the image of a continuous injective function [0, 1] → R2,
compact, and has empty interior, i.e., ∂C = C, but has positive area (positive
Lebesgue measure). Therefore it cannot be Jordan measurable. The construction can
be obtained as a two dimensional version of fat Cantor set on triangle, by removing
open wedges with base as the middle 1/4n on each sub-triangle. I am attaching a
graph from Wikipedia as below.

Note that open set may not be Jordan measurable. One example is the complement
of the fat Cantor set in R, it is bounded open but one can check it is not Jordan
measurable. Also open dense sets are not necessarily Jordan measurable.

Example 22.3. Consider the rationals in the interior of Q = [0, 1] × [0, 1], i.e.,
Q2 ∩ (0, 1)2. It is countable so that we can enumerate as {rn}. For each rn let Rn be
a small open square inside Q such that

∑∞
n=1 |Rn| = 1/2. For instance one can take

the side length for Rn to be 1/2n. Then the set A =
⋃∞

n=1 Rn is open and dense,
and moreover by density we know that A = Q. But A is not Jordan measurable.
The reason is the following. Consider the characteristic function χA on Q. Take any
grid G = {G1, · · · , Gl} of Q, then the upper sum is

U(χA, G) =
∑

Gi∩A ̸=∅

|Gi| = 1.

Now set G′ = {Gi | Gi ∩ (Q \A) = ∅} = {Gi | Gi ⊂ A} ⊆ G. Then the lower sum is

L(χA, G) =
∑

Gi∈G′

|Gi|.
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Note that ∪Gi∈G′Gi is compact and admits {Rn} as an (infinite) open cover, there
is a finite subcover, i.e., ⋃

Gi∈G′

Gi ⊆
N⋃
i=1

Ri.

Hence

L(χA, G) ≤
N∑
i=1

|Ri| <
1
4

1− 1
4

=
1

3
.

Therefore χA is not integrable over Q, which means that the open dense set Q is not
Jordan measurable.

There is another example of Thomae function.

Example 22.4 (Thomae function). Consider the function g : [0, 1] → R given by

g(x) =


1 if x = 0;

1/q if x ∈ Q and x = p/q in the reduced form;

0 otherwise.

Consider Ωg = {(x, y) | x ∈ [0, 1], 0 ≤ y ≤ g(x)}. Then Ωg has Jordan content zero.
The reason is as follow. Take any ϵ > 0 we may assume ϵ < 1. Then there are only
finitely many of x ∈ [0, 1] such that f(x) ≥ ϵ/2. In other words, the set

F = {x ∈ [0, 1] | f(x) ≥ ϵ/2}

is finite containing x = 0. Now we take the a big rectangle [0, 1]× [0, ϵ/2] to cover the
lines corresponding to x ∈ F c. What remain are finitely many line segments each of
length at most 1− ϵ/2. Therefore we can cover them by finitely many rectangles with
total volume < ϵ/2. Put everything together we can cover Ωg with finite number of
rectangles with total volume at most ϵ. Thus Ωg has Jordan content zero.

23 April 26

The Fubini’s Theorem gives us a way to compute multivariable integrals by computing
the corresponding iterated integrals, and sometimes it also allows us to interchange
the order of integrations to make the computation easier to carry out.

Theorem 23.1 (Fubini’s Theorem). Let R = [a, b] × [c, d] be a 2-rectangle in R2.
Let f : R → R2 be a Riemann integrable function over R. Suppose

� For any x ∈ [a, b] the one variable function f(x,−) : y 7→ f(x, y) is integrable
on [c, d], and

� For any y ∈ [c, d] the one variable function f(−, y) : x 7→ f(x, y) is integrable
on [a, b],

70



then ∫
R

f =

∫ b

a

∫ d

c

f(x, y)dydx =

∫ d

c

∫ b

a

f(x, y)dxdy.

Note that it can happen that both iterated integrals exist but they are not the
same, or even two iterated integrals equal but the function is not Riemann integrable.
Even we assume two sections fx, f

y are continuous we may still have that different
iterated integrals.

Firstly, we want to construct a function f(x, y) such that fx and fy are both
integrable, but the iterated integrals are not the same. The idea is the following:

To build up examples following the above idea we need to manipulate the values
for each +/– block area.

Example 23.2. Consider the following setup. Each time when we move to the
adjacent block we switch the sign of the value but double the absolute value with
area shrinked into halves.

The function f(x, y) : [0, 1]2 → R can be explicitly written down:

f(x, y) =


22n if (x, y) ∈ [ 1

2n ,
1

2n−1 )× [ 1
2n ,

1
2n−1 );

−22n+1 if (x, y) ∈ [ 1
2n+1 ,

1
2n )× [ 1

2n ,
1

2n−1 );

0 otherwise.
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First consider, for any fixed y ∈ [0, 1],∫ 1

0

f(x, y)dx = 0

since for any horizontal slice, f has only two nonzero values, and the lengths is
differed by a multiple of 1/2. Thus∫ 1

0

∫ 1

0

f(x, y)dxdy = 0.

Now consider the other iterated integral. It is easy to see that∫ 1

0

f(x, y)dy =

{
0 if x ∈ [0, 1/2);
4
2 if x ∈ [1/2, 1).

Thus ∫ 1

0

∫ 1

0

f(x, y)dydx =

∫ 1

1/2

∫ 1

0

f(x, y)dydx = 1.

Therefore these two iterated integrals are not equal. Moreover, the function f is not
even bounded on [0, 1]2 so it cannot be Riemann integrable.

This example can be further modified to a function f : [0, 1]2 → R satisfying
� fx, f

y are continuous on [0, 1] (not just integrable);
� one iterated integral is zero the other is positive;
� f is not integrable over [0, 1]2.

To make fx, f
y continuous, we cannot take piecewise constant functions anymore.

To modify this, we take each rectangle as a base of a rectangular equilateral pyramid
with the value of the function given by the height.

Even if both iterated integrals exist and equal, the function itself may not be
Riemann integrable. Here is an example.

72



Example 23.3. Define a function f : [0, 1]2 → R by

f(x, y) =

{
1 if (x, y) ∈ ( p

2n ,
q
2n ) ∈ Q2;

0 otherwise.

For each fixed y ∈ [0, 1], if y is of the form q
2n then there are only finitely many x’s

such that f(x, y) = 1, namely x = 1
2n ,

2
2n , · · · ,

2n−1
2n . If y is not of the form q

2n , then
f(x, y) = 0 for any x ∈ [0, 1]. Thus for any y ∈ [0, 1], the section fy differs from the
the constant zero function only at a finite set of points (content zero). Thus fy is
Riemann integrable on [0, 1] and∫ 1

0

f(x, y)dx = 0.

Similarly, we get ∫ 1

0

f(x, y)dy = 0.

Hence ∫ 1

0

∫ 1

0

f(x, y)dxdy =

∫ 1

0

∫ 1

0

f(x, y)dydx = 0.

But f is NOT Riemann integrable on [0, 1]2. Since the set of rationals with denomi-
nator a power of 2 is dense in R, we have

E =
{( p

2n
,
q

2n

)∣∣∣ p, q ∈ Z, n ∈ Z≥0)
}
⊂ R2

is dense in R2 as well. And the complement Ec is also dense in R2 by the density
of irrationals. Thus given any grid G on [0, 1]2 any subrectangle Ri ∈ G contains
points in E and also points in Ec. Thus U(f ;G) = 1 and L(f ;G) = 0. Therefore f
is not Riemann integrable.

One more computational example of application of Fubini’s.

Example 23.4. If the region of integration D is Jordan measurable but is not closed,
and the function can be continuously extended to D, then∫

D

f =

∫
D

f

because |∂D| = 0.
Consider the double integral ∫

D

sin y2

y
dxdy
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where D = {(x, y) ∈ R2 | 0 ≤ x ≤ y2, 0 < y ≤
√
π}. Since

lim
y→0

sin y2

y
= 0

so we can extend f to the boundary of D, by defining

f(x, y) =

{
sin y2

y if y ̸= 0;

0 if y = 0.

We can express D as type I and type II region:

D = {(x, y) | 0 ≤ x ≤ y2, 0 ≤ y ≤
√
π}

= {(x, y) | 0 ≤ x ≤ π,
√
x ≤ y ≤

√
π}.

As a type I region ∫
D

f =

∫ π

0

dx

∫ √
π

√
x

sin y2

y
dy

it is not easy to compute; As a type II region,∫
D

f =

∫ √
π

0

dy

∫ y2

0

sin y2

y
dx =

∫ √
π

0

y2
sin y2

y
dy = −1

2
cos y2|

√
π

0

is doable.

24 April 28

Computing double integrals with or without using Fubini’s theorem depends on
different situations. The followings are two easy examples.

Example 24.1. � Consider the double integral where D = [−1, 1]× [0, 1]:∫∫
D

xex
2+y2

dxdy.

First notice that
∫
ey

2

dy has no closed form, thus∫∫
D

xex
2+y2

dxdy =

∫ 2

0

dy

∫ 1

−1

xex
2+y2

dx = 0

where the last equality is due to the fact that xex
2+y2

is an odd function in
terms of x and the interval for integration is symmetric about x = 0.
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� Consider the double integral where D = [0, 2]× [0, 2]:∫∫
D

⌊x+ y⌋dxdy.

We can of course rewrite the function by dividing the domain D and use the
Fubini’s theorem by computing iterated integrals. But it is easy to compute
the double integral directly since the function is constant on certain regions:

Thus the double integral can easily be computed as∫∫
D

⌊x+ y⌋dxdy =

(
2− 1

2

)
+ 2

(
2− 1

2

)
+ 3

1

2
= 6.

There is also an n-dimensional Fubini’s theorem similar to the 2D case. In
particular, for visualization purpose, for triple integrals, we have integration by
threads and by layers as follows:

It is formulated as the following Cavalieri’s principle:

Proposition 24.2 (Cavalieri’s Principle). Let V be a bounded subset of R3 and
f : V → R a Riemann integrable function. And let I denote the triple integral of f
over V .

� Suppose V = {(x, y, z) | a ≤ z ≤ b, (x, y) ∈ Dz} where for each z ∈ [a, b], Dz is
a subset of R2 whose boundary is of content zero in R2 i.e., Jordan set, and
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for each fixed z ∈ [a, b] the double integral
∫∫

Dz
f(x, y, z)d(x, y) exists. Then∫ b

a

dz

∫∫
Dz

f(x, y, z)d(x, y) = I;

� Suppose V = {(x, y, z) | (x, y) ∈ D0, z1(x, y) ≤ z ≤ z2(x, y)} where D0 is the
subset of R2 in the xy-plane which is Jordan measurable, z1, z2 : D0 → R
are integrable functions such that z1 ≤ z2 and for each fixed (x, y) ∈ D0, the

integral
∫ z2(x,y)

z1(x,y)
f(x, y, z)dz exists. Then∫∫

D0

d(x, y)

∫ z2(x,y)

z1(x,y)

f(x, y, z)dz = I.

Example 24.3. One application for Cavalieri’s Principle is to compute the volumes
of rotations in R3, i.e., f(x, y, z) ≡ 1.

� Let f : [a, b] → R be a positive continuous function. Denote by Ω the set in R3

obtained by revolving the graph of f about the x-axis. Thus the volume of Ω is

|Ω| =
∫ b

a

|Ωx|dx =

∫ b

a

πf(x)2dx.

� Let T be a solid torus in R3 obtained by revolving the circle (y− a)2 + z2 ≤ b2

in the yz-plane about the z-axis. The the volume of T can be computed as

|T | =
∫ b

−b

π
[
(a+

√
b2 − z2)2 − (a−

√
b2 − z2)2

]
dz

= 4πa

∫ b

−b

√
b2 − z2dz = 2π2ab2.

For triple integral by threads, consider the following example.
� Consider the triple integral

I =

∫∫∫
Ω

1

(1 + x+ y + z)3
d(x, y, z)

where Ω = {(x, y, z) | x+ y + z ≤ 1, x, y, z ≥ 0}.
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Then by threads, the integral can be written as

I =

∫∫
D0

d(x, y)

∫ 1−x−y

0

dz

(1 + x+ y + z)3
,

where D0 = {(x, y) ∈ R2 | x, y ≥ 0, x+ y ≤ 1}.
By layers, we can write

I =

∫ 1

0

dz

∫∫
Dz

1

(1 + x+ y + z)
d(x, y)

where for each fixed z ∈ [0, 1], Dz = {(x, y) | x+ y ≤ 1− z, x, y ≥ 0}.

For change of variable formula, let us first recall the definition of coordinate
transformation. Let V ⊂ Rn be an open set and ϕ : Vu → Rn

x a vector-valued
function such that

� ϕ is 1− 1 on V ;
� ϕ is of class C1 on V ;
� for any u ∈ V the Jacobian Dϕ(u) is invertible.

Such ϕ is called a coordinate transformation.
Now if E ⊂ V with E ⊂ V (compact), then ϕ preserves the Jordan measurability

and ∫
ϕ(E)

f(x)dx =

∫
E

f(ϕ(u))|detDϕ(u)|du.

Remark 24.4.

� In practice some of the assumptions can be relaxed. For example ϕ can be
1− 1 with invertible Jacobian aways from a Jordan content zero set.

� The 1 − 1 is essential. It guarantees that ϕ(E) is only traced out exactly
once. For instance, consider the polar transformation ϕ : R2 → R2 given by
(r, θ) 7→ (r cos θ, r sin θ) which is C1 with Jacobian of determinant r. So the
Jacobian is invertible when r ̸= 0 (but since if r = 0 the origin has Jordan
content zero so it is okay). Now we take E = [0, 1]× [0, 2π] for (r, θ) which is a
Jordan region in R2 and ϕ(E) = B1(0) is also Jordan measurable.
Note that ϕ is not 1− 1 on E = [0, 1]× [0, 2π] since

ϕ(r, 0) = ϕ(r, 2π), for all r ∈ [0, 1].

But we can still apply the change of variable formula since the set on which ϕ
fails to be 1− 1 is two line segments in R2 which has content zero.
But if we take E = [0, 1]× [0, 4π] the image ϕ(E) does not change. Now the
change of variable formula cannot apply and indeed,∫∫

ϕ(E)

d(x, y) = π
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but ∫∫
E

rd(r, θ) =

∫ 4π

0

dθ

∫ 1

0

rdr = 2π.

This is because ϕ fails to be 1− 1 when r ∈ [0, 1] and θ ∈ [0, 2π] since

ϕ(r, θ) = ϕ(r, θ + 2π).

and [0, 1] × [0, 2π] does not has Jordan content zero in R2. Geometrically
allowing θ to vary from 0 to 4π the unit disc is traced out twice (thus the area
is getting doubled).

25 May 3

Recall the Change of Variables formula:

Theorem 25.1. Let Ω ⊂ Rn be an open set and g : Ω → Rn be a C1-diffeomorphism
on Ω. Then for any bounded E ⊂ Rn such that E ⊆ Ω,

� E is Jordan measurable if and only if g(E) is Jordan measurable;
� If E is Jordan measurable then f is Riemann integrable on g(E) if and only if
(f ◦ g)|detDg| is Riemann integrable on E. In this case we have the change
of variables formula∫

g(E)

f(x)dx =

∫
E

f(g(u))|detDg(u)|du.

Remark 25.2. The conclusion is still true if the C1 mapping g : Ω → Rn is
only assumed to be a C1 diffeomorphism on the interior of E, instead of on the
entire neighborhood Ω of E. This extended version has been used in most practical
situations. For instance the polar coordinate transformation, spherical transformation
etc.

Example 25.3. Let Ω be a “cone” bounded above by unit sphere and below by a
cone with vertex angle π

6 . Use the spherical coordinate transformation g : R3 → R3

given by
g(r, φ, θ) = (r sinφ cos θ, r sinφ sin θ, r cosφ).

Therefore the cone Ω is the image under the transformation g of the cube

Q = {(r, φ, θ) ∈ R3 | r ∈ [0, 1], φ ∈ [0, π/12], θ ∈ [0, 2π]} :
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The transformation map is not 1− 1 on the entire Q but it is a C1 diffeomorphism
in the interior of Q, together with the Fubini’s theorem we have∫

Ω

f =

∫ 2π

0

∫ π/12

0

∫ 1

0

f(r sinφ cos θ, r sinφ sin θ, r cosφ)r2 sinφdrdφdθ

due to the fact that |detDg(r, φ, θ)| = r2 sinφ.

We use the change of variables formula to simplify not only the expression of
the integrand, but also the region for integration so that other techniques such as
Fubini’s theorem may apply.

Here is another example of cylindrical coordinate transformation.

Example 25.4. Consider the following triple integral:∫∫∫
Ω

ex
2+y2

d(x, y, z)

where Ω = {(x, y, z) ∈ R3 | x2+y2 ≤ R2, 0 ≤ z ≤ h} for some fixed position R, h ∈ R
is a cylinder region in R3 with base radius R and height h.

We use the cylindrical coordinate transformation g : R3 → R3 given by

g(r, φ, z) = (r cosφ, r sinφ, z).

Therefore the region Ω is the image under the transformation g of the cube

Q = {(r, φ, z) ∈ R3 | r ∈ [0, R], φ ∈ [0, 2π], z ∈ [0, h]}.

Hence by Fubini’s theorem, we can compute∫∫∫
Ω

ex
2+y2

d(x, y, z) =

∫∫∫
Q

er
2

rd(r, φ, z)

=

∫ h

0

dz

∫ 2π

0

dφ

∫ R

0

er
2

rdr

= 2πh
1

2
er

2

|R0 = πh(eR
2

− 1).
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Other transformation as

Example 25.5. Compute the double integral∫∫
Ω

(x+ y)1/2d(x, y)

where Ω is the region in the first quadrant which is bounded by the axes and the
parabola

√
x+

√
y = 1.

Consider the substitution u =
√
x, v =

√
y thus the transformation mapping is

g : (u, v) 7→ (u2, v2)

with Jacobian matrix

Dg(u, v) =

(
2u 0
0 2v

)
=⇒ detDg(u, v) = 4uv.

Then together with Fubini’s theorem∫∫
Ω

(x+ y)1/2d(x, y) = 4

∫∫
Q

uv(u2 + v2)1/2d(u, v) = 4

∫ 1

0

dv

∫ 1−v

0

uv(u2 + v2)du.

The other commonly used transformation is the orthogonal transformation or
rigid rotation.

Example 25.6. Consider the triple integral∫∫∫
Ω

cos(x+ 2y + 3z)d(x, y, z)

where Ω is the unit ball in R3.
The idea is using some rotation to make the hyperplane given by x+ 2y + 3z to

be either the plane spanned by any of the two axes directions. Or in other words,
rotate the normal vector (1, 2, 3) to either (0, 0, 1) or (0, 1, 0) or (1, 0, 0). For example
to rotation (1, 2, 3) to (0, 0, 1) we can compose two rotations
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Hence the transformation matrix is
3√
10

0 − 1√
10

− 2√
140

√
100√
140

− 6√
140

1√
14

2√
14

3√
14


From the third row we can rewrite the original integral as∫∫∫

Ω

cos(
√
14w)d(u, v, w).

To proceed one can apply another spherical transformation as follows

2π

∫ 1

0

∫ π

0

cos(
√
14r cosφ)r2 sinφdrdφ.

81


	January 17
	January 18
	January 19
	January 20
	January 25
	January 27
	February 1
	February 3
	February 8
	February 10
	February 17
	February 22
	February 24
	March 8
	March 10
	March 17
	March 22 & 23 
	April 5
	April 6
	April 12
	April 14
	April 21
	April 26
	April 28
	May 3

